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Section =1

I.(A) Answer following questions. (Any Three) 21
(1) Explain the concept of educational sociology and its importance
(2) Explain the concept of social mobility and its effect on education
(3} Discuse the important institutions that play & role in the process of socializetion of the child
(4) Discuss in detail the functions of education at the social level
(5) Explain the meaning of culture. Explain the relationship between culture and education
(6) Define family and state the constituent elements of Indian cultural heritage.

L. (B) Answer the following questions in short (Any Two) 04
(1) What is socialization?

(2) State the types of culture
(3) Explain the meaning of civility.
(4) Name two types of social mobility

Section - 11

2. (A) Answer following questions. (Any Three) 21
(1) Explain the meaning of social stratification and its effect on the education of social
stratification
(2} What is social change? How can social change be brought about through education?
(3) Explain the importance of education for internationalization
(4) Discuss the need for privatization of higher education
(3) What is democracy? What should be the objectives of democratic education in modern [ndia?
(6) Explain the role of system for poverty alleviation

2. (B) Answer the following questions in short (Any Two) 04
(1) Explain the meaning of privatization

(2) What is globalization?
(3) State two purposes of UNESCO
(4) What is modernization?
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ENGLISH VERSION
Instructions : Figures to the right indicate Full Marks.

Multiple choice questions :

(1) Which organelle of some plant cells may occupy 50-90% of the cell volume?
(a) Nucleus (b) Cell wall (¢) Vacuale (d) Chloroplast

(2) Which tissue provides mechanical support as well as flexibility to plants?
(a) parenchyma (b) Arenchyma (¢) Collenchyma (d) Sclerenchyma

(3) In which kingdom are the protozoa, tichens and algae included?
(a) Monera (b) Protista (c) Plantae (d) Cyanophyta

(4) Of what is jaundice a disease?
(a) Kidneys (b) Pancreas (c¢) Liver (d) Intestine

(5) What is the chemical formula of Ozone?
(a) CO (b) O, (¢) O, (d) O,

(6) Which of the following is a micronutrient?
(a) Potassium (b) Phosphorous (¢) Zine (d) Calcium

{(7) What is the latent heat of fusion of ice?

(a) 33.4x10° Jkg™ (b) 225x10° Jkg™ (c) 33.4x10" J kg™ (d) 2.25%10" Jkg™
(8) The solution made by adding chalk in water is ..............

(a) true solution (b) Colloid (¢) Suspension (d) Saturated solution
9) The molecular formula of quicklime is .............

(a) CaCl, (b) CaCO, (¢) Ca(OH), (d) CaO
CIOY,  wamiisais is used in the treatment of Cancer.

(a) ¥y (b) ¥Na (c) 7] (d) *co

(11)  Area under a velocity-time graph represents a physical quantity which has the unit ........
(a) m* (b) m (¢) m? (d) ms"'

(12) 1 newton = ........... dyne.
(a) 10° (b) 10 (c) 10 (d) 10°

(13)  The mass of an object of 6 kg, on the surface of moon is ............

1
(a) 1 ke (b) 36 kg (c) 6 kg (d) ke

(14)  Speed of a body in motion is doubled. Its kinetic energy is now ............. times the original
kinetic energy.
(a) two (b) three (¢) four (d half

(15)  Which of the following relations is true for sound waves?

i 3 I
(@) Aav® (b)) Adav (0) f“’-’; (d) Rﬂv—-_-

(16)  What is the focal length of a convex lens having power of +5.0 D?
(a) -10cm (b) -20cm (c) +10em (d) +20cm

(17)  In the human eye, the image of an object is formed at the ...........
{a) iris (b} pupil (¢) retina (d) comea

(18)  The SI unit of electric charge is the ..................
(a) ampere (b) Volt (¢) Watt (d) coulomb




(19)
(20)
(21)
(22)
(23)
(24)
(25)

(26)

27)

(28)
(29)
(30)
(31)
(32)
(33)
(34)
(35)
(36)
(37)
(38)

(39)
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How many times in one second does on AC with frequency 50Hz change its direction?
(a) 25 (b) 50 (c) 100 (d) 200

Which organ stores bile?

(a) Liver (b) Pancreas (c) small intestine (d) Xeall bladder

Which ovarian hormone regulates menstrual cycle in women”

(a) Testosteron (b) Estrogen (¢) Thyroxin (d) None of these

Which structure develops between uterian wall and foetus to fulfill the need of nutrition?
(a) Placenta (b) Unbilical cord (¢) Amnion (d) Amniotic fluid

Which factor conducts the expressive genetic information from one generation to another?
(a) Protein (b) DNA (¢) RNA (d) Enzyme

Which of the following fuel does not leave ash-like residue while burning?

(a) Wood (b) Charcoal (c) Biogas (d) Coal

In an ecosystem third tropic level is always occupied by which animals?

(a) Herbivores (b) Camivores (¢) Producer (d) Decomposers

The most rapidly dwindling natural resource in the world 18 .....cccoene

(a) Water (b) Forests (¢) Wind (d) Sunlight

lCaCl2 +X - CaSD4 +2NaCL X what is X ?

Which coating is applied on electric wire?
(a) DDT (b) PVC (c) PTFE (d) PAN
Write the common name of ethanoic acid.
(a) Formic acid (b) Acetic acid (¢) Propanoic acid (d) Butonoic acid
Which of the following element will gain an electron easily?
(a)Na (b) F (¢) Mg (d) Al
Which part of a potato plant do we eat?
(a) Root (b) Stem (¢) Leaf (d) Flower
Due to deficiency of which Vitamin do our bones becomes soft and bent?
(a)Vitamin A (b) Vitamin B () Vitamin C (d) Vitamin D
............... is an animal fibre.
(a) Jute (b) Silk (¢) Cotton (d) Nylon
Which process is used for separating a mixture of two liquids that do not mix with each other?
(a)Sieving (b) Filtration (¢) Decantation (d) Evaporation
Which type of plant is money plant?
(a) Herb (b) Shrub (¢) Climber (d) Tree
Which of the following animals does not have a streamlined body?
(a)Octopus (b) Fish (c) Whale (d) Dolphin
What is the nature of the image is obtained by a pinhole camera?
(a) Real (b) Magnified (large) (c) Erect (d) Inverted
Which of the following metals is not attracted by a magnet?
(a) Nickel (b) Cobalt (c) Iron (d) Silver
What part of air is nitrogen?
2 3 t 1
@ 3 ® 37 © 5 @ 3
[P.T.O.




(40)
(41)
(42)
3)
(44)
(45)
(46)
@7
(48)
(49)

(50)
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Which is not a traditional method of irrigation?

(a) Chain pump (b) Dhekli (¢) Rahat (d) Drip System

Which plastic is used to made electric switches?

(a) Backelite (b) Polyethene (c) PVC (d) Melamine

Which of the following is used for manufacturing of steel?

(a) Bitumen (b) Coal tar (c) Coke (d) Coal

Which of the following is Bison?

(a) Wild buffalo (b) Wild Mango (c) Barking deer (d) Wild dog

Which of the following structure is multicellular?

(a) Sperm (b) Ovum (c) Zygote (d) Foetus

How many pairs of chromosome are there in somatic cells of human?

(a) 22 (b) 23 (c) 44 (d) 46

Every object in the universe exerts a force on every other object : Which is this force?
(a) magnetic force (b) gravitational force (c) elasticity (d) electrostatic force
The frictional force on an object in a fluid depends on .........

(a) Nature of the fluid (b) Speed of the object (c) Shape of the object (d) All of these
Sound of frequencies higher than ............. cannot be detected by human ear.
(a) 20Hz (b) 2000Hz (c) 20,000Hz (d) none of these

Which of the following liquids does not conduct electricity?

(a) Vinegar (b) Sugar solution (c) Lime water (d) Caustic Soda solution
Which part of the eye controlled amount of light entering the eye?

(a) Comea (b) Ciliary muscle (c) Iris (d) Pupil
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Choose correct option for the following from the options provided. Max. Marks 50

What is the science which studies human behaviour and deals with economic problems called?
A} Philosophy B) Physics C) Economics D) Statistics
Who introduced economics as a real science?
A) Adam Smith B) Robbins C) Samuelson D) Prof. Marshall
What is the monetary payment in exchange of a good called?
A) Value B) Exchange C) Price D) Wealth
Which of the following is not a characteristic of wealth?
M) Possesses usefulness B) Should be available in abundance
C) Has an explicit existence D) Is capable of being exchanged

Which kinds of commodities are called complementary commodities?

A) Joint B) Competitive ~ C) Not related D) Alternative
Which one has no relation with demand curve?
A) Specific time B) Specific price C) Consumer D) Supply
What are the changes that take place in supply due to decrease in the price of a commodity?
A) Increase B) Expansion C) Contraction D) Decrease
If there is expectation about rise in price in future then present supply ?
A) Increase B) Decrease C) Remain constant D) Remain zero

Which cost cannot be measured?
A) Real Cost B) Monetary Cost C) Opportunity cost D) Long run cost
How the slope of Fixed cost curve is?
A) Negative B) Positive C) Parallel to y-axis D) Parallel to x-axis
In which market *Firm is an industry’?
A) Perfect Competition ~ B) Monopoly ~ C) Monopolistic Competition D) Oligopoly
‘Super Normal Profit’ is a characteristic of which market?

A) Monopolistic Competition  B) Oligopoly C) Monopoly D) Perfect Competition

1 [PTQ3
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In which year the Reserve Bank of India (RBI) was set up?

A) 1847 B) 1857 C) 1935 D) 1947
Aceording to Human Development Report of 2014, what was India’s per capita Income?
A} 55150 B)s 9250 C) 543,048 D) 552,308

In the recent times which of the following area is reserved for exclusive investment by the public
sector?
A) Fertilizer B) Television C) Automobile D) Railway
What is the policy of producing the goods domestically which are similar to imports called?
A} Privatization  B) Liberalization C) import substitution D) Globalization
Which expenditure of government is not considered in national income?
A) Production  B) Transfer Payment  C) wages of laboureres D) Defence expenditure

Who gave the definition of national income by production method?

A) Marshall B) Fisher C) Pigou D) Samuelson

What is meant by a ‘Panchayat’?
A} An assembly of 5 persons B) An assembly of 50 people
C) An assembly of 500 people D) An assembly of 5 Villages

Who favoured the concept of balanced budget?
A) Adam Smith B) Marshall C) Keynes D) Hicks

Which of the following concepts of deficit does not have policy importance in India?

A) Revenue deficit B) Budgetary Deficit

C) Fiscal deficit D) Primary Deficit
How many tiers of government are mentioned in the Indian Constitution?

A) One tier B) Two tier C) Three tier D) Zero tier

How many sources of income of the state did Kautilya show?
A) 7 B) 5 C)9 D) 8
Which was the theory given by Pandit Deendayal with reference to Labour Oriented Production

method?
A) Work for everyone B) Food for everyone
C) Rest for everyone D) House for everyone

Who was the patron of ‘Integral Humanism'?
A} Gandhiji B) Pandit Deendayal C) Kautilya D) Prof. Marshall




26

28.

34,

LIPS ]
i

=-163-7
For which type of distribution a graph is drawn?
A} Continuous B) Discontinuous C) Skewed D) Ideal
Which of the following diagrams are drawn for similar data?
A) Simple bar diagram and clustered bar diagram
B) Bar diagram and pie diagram
() Clustered bar diagram and time-series graph
D) Pie diagram and time-series graph
What was India’s ranking in the world according to the Human Development Index in 2014?
(At 127 (B) 128 (C) 129 (D) 130
What is the value of Human Development Index?
(a)y 0 (B)y 1 (C)Between0 and 1 (D) 100
Generally which countries are related with the concept of economic growth?
(A) Developed  (B) Developing  (C) Backward countries (D) Third world countries
W hat is the type of inflation called when there is an increase in demand?
(A) Demand-pull (B) Costinduced (C) Salary induced (D) profit induced
Which economist believes that the true inflation is caused when there is rise in prices even when
there is full employment?
(A} Marshall  (B) Crowhter (C) Keynes (D) Pigou
Which of the following can be used as the best means for storage of value?
(A} Crops (B) Animals (C) Stones-minerals (D) Coins
Iow many major types of deposits exist in banks in India?
(A) 2 (B) 6 (C) 10 (D) 3
\What is the rate at which RBI borrows funds for very short term from the commercial banks is
called?
A) Reporate  B) Bank rate  C) Reverse repo rate D) Open market rate
What amounts of rupees are decided by Tendulkar committee in the year 2011-12 for deciding
poverty line in urban areas?
Al B16 B)916 C)1000 D)2000
According to all estimate for the year 2011-12, which of the following state falls in the category
of 30-40% poverty?
A) Punjab B) Jammu and Kashmir C) Karnataka D) Odisha
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Which state has the maximum toilet facility in India?
A) Gujarat B} Punjab C)Bihar D) Kerala
A person is capable, willing and ready to work at current wage rate but not getting work is said to
el
A) Unemployed B) poor C) surplus D) worker
Which type of production technique increase unemployment?
A) Labourintensive  B) Capital intensive  C) Agriculture oriented D) Education oriented
Which state in India has the highest female population per 1000 males?
A) Gujarat  B) Maharashtra C) Kerala D) Uttar Pradesh
What was India’s birth-rate in 20112
A)2IL8  B)368 C)720 D)23.8
How much was the contribution of agriculture in national income of 2011-12?
AlS3 1%  B)423%  C)13.9% D)59.9%
How much is the use of pesticides per hectare in India?
WV USKg B)2Z5Kg C)66Kg D)7Kg
How much was the contribution of industries in 2013-14 in national income of India?
A) 16:6% B)27% C) 40% D) 60%
How muchr investmenit is needed in large scale industries?
A) Icrores  B)Scrores  C) More than 10 crores d) 100 crores
What is public sector?
AJ Sector run by people B) Sector run by government
) Sector run on co-operation D) International sector
[dentify the type of effect that is caused by migration due to pull factors.
A} Negative B) Positive  C) Zero D) Relative
Which age groups of children are eligible for compulsory and free education according to the
Indian Constitution? _
A) #-14 years B)3-15years C)6-14 years D) 7-15 years

What was the extent of literacy in India in 20117

A) 30.0% B)60.0% C)70.0% D)74.04%

X
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MCom Sem - 3 HPP (AAA) Examination
G 12
Cost Accounting - |

SECTION: |
(Attempt any TWO questions out of given from section )

Q.1

(A) Journalise the following transactions of Bhide Ltd. assuming that cost and financial
transactions are integrated.

Particulars (%)
Raw materials purchased 2,00,000
Direct materials issued to production 1,50,000
Wages paid 1,20,000
Wages charged to production B4 000
Manufacturing expenses incurred 84,000
| Manufacturing overhead charged to production 92,000
| Selling and distribution costs 20,000

(B)  Explain the advantages of Integrated Accounts

Q.2

[Max. Marks :

10

10

(A) From the following information of Priya Ltd., calculate Economic Order Quantity and

Annual Inventory Cost.

Annual consumption 30.000 units
Ordering cost per order 50
Cost per unit (Purchase Price) Z20
Cost of carrying inventary per annum 15%

If 2% discount is offered by Priya Ltd. for purchases in the lot of 3,000 units, should

the offer be accepted?

(B) Explain Under-absorption and Over-absorption of overheads.

Q.3

10

10

Vagle Ltd. produces two products X and Y. Production of X is 1,000 units during one run,

while production of Y is 100 units during 10 runs

Materials and direct wage costs are similar in both the products. Production overheads are

66,000 which include the following :
#33,000 set-up costs
#22 000 quality control costs
711,000 material handling costs
All the three activities are similar for both the products.

Z

Total Cost.
Direct Material 50,000
Direct Wages 10,000
Overheads 66,000
1.26,000

[F.qu}

50
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The production overheads are absorbed on the basis of direct wages.
You are required to prepare a statement showing per unit cost and total cost under:
(1) Traditional cost approach and (2) ABC approach 5
2

Q4
Suraj Ltd produces 70,000 units at 70% Capacity and earns an average profit of #4 by
selling it at 18 per unit

Direct Materials 5
Direct Labour Iz
Overheads 7 (50% fixed)

During the current year, they intend to produce the same number but anticipates that'
(a)Their fixed costs will go up by 20%.

(b)Rate of direct material will increase by 20%.

(c) Selling price cannot be increased

Under these circumstances they obtain an order for a further 15% of their capacity  What
minimum price will you recommend for accepting the order to ensure the manufacturer an
overall profit of 22000007 Assume that the fixed cost is recovered from the current
production.

20

SECTION: II

(Attempt any TEN MCQs out of given from section Il)
Q.5 Select the appropriate alternative: 10

(1) Total cost-plus pricing means —
(A) Direct and Indirect Cost
(B) Fixed and Variable Cost
(C) Manufacturing and Non-manufacturing cost
(D) All of the above

(2) In ABC Analysis of Inventory ‘B’ class items require —
(A} Tight or Strict Contral
(B) Moderate Control
(C) Loose Contral
(D) None of the above

(3) It is possible to ascertain most accurate and realistic product cost by adopting -
(A) Activity based information

(B) Activity Based Costing
(C) Standard Costing
(D) None of the above

(4) Non-integrated Accounting System is also called —
(A) Financial Accounting
(B) Cost Control Accounting
(C) Cost Accounting
(D) None of these

(S) Which of the following do not find place in Non-integrated Accounts?
(A)Creditors Alc
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(B) Cost Ledger Control Alc
(C) Store Ledger Control Alc
(D) Administrative Overhead Control Alc

(6) Cost Reduction is result of —
(A) Innovation
{B) Cost Contral
(C) Both (A) & (B)
(d) Neither (A) nor (B)

(7) ROL stands for
(A) Re-order level
(B) Re-out level
{C) Re-over level
(D) Re-outward level

(8) Variable Cost Pricing is also known as -
(A) Full Cost Pricing
(B) Marginal Cost Pricing
(C) Direct Cost Pricing
(D) Conversion cost pricing

(9) Which of the following activities is connected with the cost driver of Na. of workers?
(A) Setting up of machines
(B) Training
(C) Analysis of proposal
(D) None of the above

(10) The appropriate cost driver for Repairs and Maintenance is —
(A) No. of workers
(B) No. of set ups
(C) No. of customers
(D) Mone of these

(11) What is not correct for Marginal Cost-plus Pricing?
(A) It is contribution approach
(B) It is linked with variable cost
(C) Fixed costs are considered
(D) All of the above

(12) If actual overheads are more than pre-determined overheads then it is a case of
(A) Ljﬁder Absorption
(B) Over Absorption
(C) Low Absorption
(D) Mone of the above
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1105E170 Candidate’s Seat No :

MCom Sem - 3 HPP (FFS) Examination
CcC-12
Insurance

Instructions: All Questions in Section I carry equal marks

Attempt any TWO questions in Section |

Section |
Q.1 (a) Role of insurance in the economic growth of the country. (10)
Q.1 (b) Discuss the principles of insurance. (10j)
Q.2  Define Life Insurance. Explain the products of life insurance. (20)
Q.3 Discuss in detail health insurance policies. (20)
(.4{a) Discuss in detail methods of managing risk. (10)
().4(b) Discuss stages of risk management process, (10}
Section 11
Q.5 Choose the correct option (answer any ten) (10)
1. The amount of loss which the insured pay out of his own pocket before the insurance
company (insurer) will step in and pay the rest is known as?
{(a) Premium (b) Deductible
(c) Coverage Limit (d) Claim Amount
2. Which of the following is not included in liability insurance?
(2] Business Insurance (b) Automobile Insurance
(c) Workers’ Compensation (d)Aviation Insurance
3. Insurance policy will provide compensation only for such losses which are caused by risks
stated in the Policy. This kind of principle of insurance is known as?
(a) Insurable Interest (b) Indemnity
(c] Proximate Clause [d] Subrogation
4. Motor Vehicles Act came into existence in which vear?

(a) 1985 (b) 1986

[P.T-0)
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(c) 1987 (d) 1988
5. Multi Modal Transportation Act came into existence in which year?
(a) 1992 (b) 1993
(c) 1994 (d) 1995
6. Union India Insurance Company Limited comprises of how many regional offices?
(a)z0 (b) 21
(c) 22 (d) 23
7. National Insurance Company Limited was nationalised in which year?
(a) 1972 (b] 1974
(c) 1976 (d) 1978
8. Which of the following items are not included in application of requisition for registration?
(a) Director's background (] Promoter's background
(c) Proof of deposit [d}) Capital Structure
9. According to which section of the Insurance Act, 1938; no risk can be assumed by an insurer
unless premium is received in advance?
(a) 64AB (b) 64WB
() 64DB (d) 64VE
10. When was Life Insurance Nationalized?
(a) 1947 (b)1956
(c) 1800 (d) 1901

11. Largest life insurance Company in India is.
a) United India insurance Company
b) Life insurance Corporation of India [(LIC)
¢) National insurance Company Limited
d} The new India assurance company limitea
12. The premium of life insurance is deductible under section as per income tax Act,
(a) BO (A) (b)80 (B)
(<) 80 [C) (d) 80 (D)
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* GUJARAT UNIVERSITY
M. Sc. Chemistry Semester-lil Theory Examination, May 2022

CHE (0) 502, Medicinal Chemistry (Old Course)

Time: 2 hours Max Marks: 50

Instructions: Section I: Answer any three (3) questions out of eight (8)
Section lI: All questions are compulsory
lllustrate your answers with neat diagrams/figures wherever necessary

] SECTION - | Marks |
Answer any three (3) questions
1 | A | Discuss the SAR of anyone drug. B (71
B | Give synthesis of ampicillin and chloramphenicol. | 7
2 | A | Classified antibiotics with Exan;._F;Te:.__..______.._ T Tm
B | Discuss the non-classifiable antibiotics L
3 | A | Give synthesis of amobarbital and diazepam. [7]
| B | Give synthesis of alprazolam and procaine. B o om
4 A | Write a note on antipsychotic drugs. m
_i B | Write a note on general and local anaesthetics. i M
5 | A | Discuss the Modern chemotherapy of malaria. -_ 7]
B | Discuss the SAR of anyone antimalarial agents. | [ |
6 | A | Give the synthesis of isoniazid and ethionamide. (71
B | Give the synthesis of ethambutol and DDS. o 71 |
_-' 7 | A | Give the synthesis of diltiazem and atenolol. |
B | Give the synthesis of tolbutamide and cf::it}repropamide, N (7]
8 | A | Give the synthesis of acetazolamide and chlorothiazide. [7]
B | Write a note on hypoglycemic agents. _ B (71 |
SECTION - I .
9 Answer the following questions (1 mark each) [8]
A | What are lactam antibiotics? .
B | Give the structure of nc;.f-afgin.
C | What is antibiotic resistance? '__ - _____ I
D | What are sedative drugs? — _ .
| E | Whatis TB? o _ ]
F | Whatare prophylacticagents?! e
G | What is cardiovascular drug? ey __'—;
H | Give the structure of furosemic. I '

—_— S —
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Instructions: 1. All questions in Section-I carry equal marks.
2. Attempt any THREE questions in Section-1
3. Questions 1 is Section-I1 is compulsory.

Section-1:

Que-1 (A) Making use of the kinetic theory of gases derive an expression for the 07
viscosity of a gas consisting of spherical molecule with fixed diameter.

(B) How molecular diameter and the Avogadro number can be calculated from 07
the viscosity measurement of gases?
Que-2 (A) Write note on Graham's law of effusion and diffusion. 07

(B) Explain the terms mean free path, collision frequency and collision 07
diameter. Show that the mean free path of a gas molecule increases by
decrease in pressure,

Que.-3 (A) Derive Bragg's law of X-ray diffraction. 07

(B) Explain the Laue method used to determine the structure of a molecule. 07

Que.-4 (A) Explain how number of molecules in unit cell in a cubic crystal of NaCl 07
calculated?

(B) Explain determination of lattice parameters of a unit cell of NaCl crystal. 07

Que.-5 (A) How Beer's law is used for simultaneous determination of mixtures? What 07

are the limitations of Beer’s law?

(B) Explain Franck-Condon principle and its physical significance. 07
Que-6 (A) Explain how the Beer’s law is used for to determine the pka value of an
indicator,
(B) Write note on selection rules of electronic transitions,
Que.-T (A) Explain the laws of photochemistry 07

P.T.0




Que.-8

Que.-9

(B)

(A)
(B)

(i)

(i)
(iii)
(iv)

v)

(vi)

(vii)

(viii)

E~IF3-2

What do you understand by quantum yield? Explain high and low values
of quantum yield by taking suitable example.

Explain the experimental method for the determination of quantum yield. 07
Write note on  greenhouse effect and photochemical smog. 07
Section-11: All the questions are compulsory 08
Why X-ray is useful for investigation of internal structure of a material?

What are Kae rays?

What is photosensitization?

What is the difference in fluorescence and phosphorescence in terms of
wave length of emitted light?

Why most of all organic compounds are capable of absorbing
electromagnetic radiation?

What is the characteristic of molar absorptivity?

How the rate of diffusion or effusion of a gas related with the molar mass
of the gas?

How the value of *a’ changes with compressibility factor Z7
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MSe¢ Sem.-3 Examination
502
Microbiology

Time : 2-00 Hours] May 2022 [Max. Marks : 50

Instructions:  All guestions in Serton | carry equal marks
Attempt any THREE guestions in Section [
Quescion IX ia Secton Il s compulsory

Section [ (42 marks)

' Q1 | (@) What are Bisinc.ic cat,ru How are they used o 7
|L=E (i) Write a detailec note on environmental Iii_u_: of India kermeyre] Pavyrozuiats- ¥
o [a) Give an overview :_t:tr a:e.—g!Tes used 1o conszive the envircnment 7
(b) Write a note giche | warm.ng 3s an environmental problem, - |7
o (a) Whatis the mpac: o/ (MOs or Bioramediaton. g 7
(b} Cive be !I].L‘Jh;ml___-: phy toreme disdior . = 7
QIv [a) Write 2 note {-*fEng- _1_-: ation of aliohatic hydrocarbons. S ';_]
{b) Write & sho-tnote o« _I'E)_:Jegranatlc n of pestici¢las, — N 7 |
_Q“V_—_i_ [‘u‘m _=E:E:n 5 &:!I-E.“tll Imu emediadons. _"": - 7
{b) Write tre meck. Anis ;.-_,;,-.‘?.LE.,_-“E__‘I’*!E!!_‘L!I‘_'-‘_F'EE"-__ B e e 7
QvI | (a) Explaia tre role of bacteria in dye degradation. - 7
(b} Expiain /a sicu techniques in bioremadiation g 7
Qv (2] What ae Assinilstery Biodeterioration, give exzm ples, ::___:i:‘ 7
| (b) Write = note onmetrods _sed to study bicdeteriaration. o L 7
QVIH {a) Dﬂt KL pnnal:l;t z 1 FI"EI chanisms of b_uTJ_e-I;:;EtEIT — '_'; : _#" 7
| (b) Write = nots o biode-erioration of Waad and papar. S 7
—— . Section Il (8 marks} . .
Qix Shart Qmesﬁans (One ruirk M{:h] I
1. Whatis acid rain ] 1
o D R |
2. Define Ziosensors 1
3. Whacis ex situ otorermediztion 1
3. Nemiz cwrn tung.whice llen riarate pharma procucts 1
5. Enlisa o miciod s 13 .l1 veuiirol biodewrior toa ol Jeatl2, 1
- — —_ - - 4
|
B, Define Jetoyificetion |1
Eo e i IR
7. Whaatis J.:me achig |1
B e e e R e e i —
B, Wkat s hiotran tffhuml 1

- =
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MSc¢ Sem.-3 Examination
502
Mathematics
Time : 2-00 Hours] May 2022 [Max. Marks : 50

1. Each the question in Section-I carry equal 14 marks.
2. Attempt any Three questious from Section-I

3. Questions in Section-IT are COMPULSORY
Section-1

1. (A) Define the group S3. What is the centre Z(Ss) of the group 537 (7]

(B) Define a cyclic subgroup of a group G. How many generators does the group
Zop have? . (7]

[

(A) Give with details an example of an infinite non-Abelian group. J (7]

(B) State (without proof) the fundamental theorem of finite Abelian groups.
How many Abelian groups of order 50 are there? Justify. (7]

3. (A) What is the order of the permutation a = (12)(2345) in the group 4,7  [7]

(B) Define simple groups. Determine the values of n for which the group Z, is
simple. [7]

4. (A) Define an automorphism. Prove that Aut(Z,) is isomorphic to U/(n). (7]

(B) Define a normal subgroup. Give an example of group G and its subgroup H
such that H is not normal in G. (7]

3. (A) Prove or disprove: The group (R, +) is isomorphic to the group (Q,+). (7]
(B) Let |G| = 60 and H be a subgroup of G. write down all the possible orders of
H? [7]

1 CPT.0]



sends the identity to the identity.. [7]
(B) Define simple groups. If |G| = 11. show that @ is simple. [7]
7. (A) What is the order of the group U(50)7 Explain, [7]

(B) Define the conjugacy class of (a) of the element g EG.
When does cl(a) = {a} hold for all g € g7 Explain. [7]

8. (A) How many homomorphism are there from the group Z to the group Z?  [7]

(B) How many elements of order 2 are there in the group Zyog & Zagy? (7]

Section -IT
8]
1. Any infinite cyclic group (7 is isomorphic to the group

(A) (R, +) (C) (Q,+)
(B) (Z,+) ' (D) (Zn, +,)

2. Let a be any element of group G. Then |a] = |a-!|
(A) Always true. (C) True, if G is finite
(B) True, if G is cvelic, (D) True, if G is Abeliag,
3. What is the order of the group G =Z, @ U(7)?

(A) 42 (C) 52
(B) 24 (D) 34




-1 15-3

. How many elemnents of the group As have order 37

(A) 1 (C) 15

(B) 20 (D) 24

. What is the order of the center Z(Ss) of the group S,?
(A) 6 (C) 1

(B) 4 (D) 2

. Which of the following groups is simple?

(A) 53 (C) (Zg, +4)
(B) (Z,+) (D) (Z7,+7)

. For which values of m and n, the group G = Z,, & Z,, is cyclic?

(A) m=10,n=15 (C)m=12,n=121

(B m=10,n=21 (D) m=4,n=28

. What is the order of the group Aut(Zg)?

(A) 10 (C) 4
(B) 1 (D) 2
EkkEkkkkh kR Rk
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Time : 2-00 Hours)

Instructions:

11 ﬂSE 1 76 Candidate’s Seat No -
MSe¢ Sem.-3 Examination :
502

CB (Tumor Immunology)
May 2022

All Questions in Section | carry equal marks

Attempt any THREE questions in Section |

Question IX in Section Il is COMPULSORY

llustrate your answers with neat and labeled diagram wherever necessary

[Max. Marks : 50

Q4

Q-

Q-vi

Q-vii

m >

Section |
Write a note on viral antigen presentation.
Explain in detail the relation between immune system and cancer.

Name the different causative molecules for metastasis and describe any
one in detail.

Explain in detail how dendritic cells act in tumor microenvironment?

Describe tyrosine kinase. List out different mechanisms by which it
acquires transforming functions.

What are the changes observed in expression of HLA molecules in
relation to cancer?

Write a short note on seven transmembrane receptors.

Define immunomodulation, immunoselection, enhancing antibodies and
immunostimulation.

What are Predisposition Biomarkers, Diagnostic Biomarkers, and
Prognostic Biomarkers?

Describe the mechanisms by which therapeutic monoclonal antibodies
cause immune mediated tumor cell killing.

What is Tumor Marker? Explain role of PSA, CEA, HCG and AFP as
tumor markers in cancer patient's care,
How are therapeutic menoclonal antibodies produced?

Discuss “Significance of Liquid Biopsy" in Cancer Biology.
Explain role of cytokines in cancer immunotherapy.

~ =~
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E-1#E6=2
QVIl A Define Accuracy, Precision, Sensitivity, Specificity, Positive Predictive 7
Value and Negative Predictive Value.

B Whatis Chimeric Antigen Receptor (CAR) T-cell Therapy? 7
Section Il
Q-IX Multiple Choice Questions 8
A Strongly immunogenic tumors appear .
a Invirtually all patients b Only in experimental animals

¢ Inimmunosuppressed patients d Only in elderly patients

B of the following TGF-p receptors has no signalling domain.
a TGF—p1 b TGF—B2
¢ TGF—3 d TGF—p4

C A new DC subset described in mice characteristics of NK cells,
plasmacytoid DC (similar to both DC and B cells) and normal DC is

called .
a KDIC b NKDC
c IKDC d DCNK
D Imiquimod is used for treating .
a Oral cancer b Skin cancer
¢ Bladder cancer d Owvarian cancer

E In the case of partial tumor elimination, the theory of immunoediting is
that a temporary state of equilibrium can then develop between the
immune system and the .

a B-cells b T-cells

¢ developing tumor d macrophages

F is elevated in a patient’s with ovarian cancer.

a PSA b AFP

¢ CA125 d BHCG

G In assay validation procedure, limit of detection indicates

a Precision of the assay b Specificity of the assay

¢ Accuracy of the assay d Sensitivity of the assay

H is approved as therapeutic vaccine for patients with
early-stage bladder cancer.

a Sipuleucel-T b BCG

¢ Cervarix d Imiguimod




1/92 1105E177 Candidate’s Seat No :
Diploma in Labour Laws & Practice (D.L.P.) Examination

Paper-11
Gujarat (Bombay) Industrial Relation Act, ID Act & P.F. Act
Time : 2-00 Hours) May 2022 [Max. Marks : 60

Instructions : (1) All question carry equal marks.
(2) Cite authorities in support of your answer.
(3) State the same question number in your answer-book which is stated in the

question- paper.
(4) Attempt any three questions from the following.
1 ey dsuldl wzl, teroa Yoy Gauld Rad anemal.
1 »lelBis dsRll Wikl e dso “Galar” A “wllallBls asu” Al vl Gelsiel wl b
al wdl Rad awendl.
3 leiBl asRld Wi, w9 60 “didid” il “diusil” 24 noitld b ol ulkd wiwmdl.

¥ aud (jad) »ldlBis doius wzl, 1ers 60 “HYR wead” wd “wlalbs wead” o egid
el Ardipild [@od #@Meaal.

Y ooud (4es) »lalBus deius uiRl, 1ers den drsuuu &6l 2wkl by dl wldd
uonal.

5 e@wMB wzl, weuz-a yey GRul wid ddpild [@ad wwendl.

ENGLISH VERSION
| Explain in detail the main objects of the Industrial Disputes Act, 1947.

2 Explain in detail the definitions of the Industry”and “Industrial Disputes™ with case laws with illustrations and
case laws.

3 Explain the provisions pertaing to the “strike” and “Lock out” under the Industrial Disputes Act, 1947 with
case laws.

4 Explain in detail the powers and Jurisdiction of the “Labour Courts™ and “Industrial Courts™ under the
Gujarat (Mumbai) Industrial Relation Act, 1946.

5 Explain in detail the provisions pertaining to the “Illegal change™ under the Gujarat (Mumbai) Industrial
Relation Act, 1946 with case laws.

6 Explain in detail the main aims and objects of the provident fund Act, 1952.
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BJMC Sem 5 Examination
BJMC - 502

Advanced Electronic Media - [

Time : 2-
ime : 2-00 Hours] May 2022 [Max. Marks : 60

Part-| (Attempt any 3 questions out of 8. - 14marks each).

Q1. Discuss the skills required in a RJ of private FM.

s yighde alg Al 25U 1S 58 58 w1d5d) Sld] s d el

Q4. Write any 2 radio advertisements for any product
516 Wt vlsse Hids{l 2 S| Asazgxilez qull,

Q3 Discuss about various departments in a radio station.
35Ul w@asui [lay (Suididez (@9 [@ad vuf 53

Q4 Write in detail about the Persona, Personality and Perception of a radio station.
S\ 221t «dl persona, personality el perception (A€l [Qad Hi @uil,

Q5. What do you mean by the word Podcast? Write about your favourite podcast.
Ulssize 2124 97 dual Audl Ulssie (agl yul 53,

Q6. Write 5 minutes’ podcast script on any topic you like.
dMel Uit [Quy GUR 5 (Heleofl Ulssize 2l qud).

Q7. What are the main differences between podcast and radio?
Ulssie wel 3S1l 92l 9f 1uy dslad &7

Q8. Why intro and outro are very important for any podcast?

UL UL o] wel 4G 2] 215 UIS5122 HI2 Wi % 2T B7

Part - Il (Attempt any 8 out of 16 MCQs. - 1 marks each)

1. Who is the responsible person to set the advertisement and audience can listen it properly? sl
Gu Wsdelpy yeudlRed fd deinny wa Aed iy defl waieelil Sl 213 &l 82

A. Business head [Gi»ald &5

B. Programing Head Yl és

C. Promo Producer WIH1 ‘:R&P:EH?.

D. Scheduler (215262

2. The drama programme broadcasts on Akashwani is called
wyislag il Uz w1l 35U w125 =il WA «f «11M 3 B7?
A. Jaimala oY HI4|

(3. v



= 192
B. Inse Miliye H1& H]dl2]
C. Yaad Shahar dl& 2182
D. None of the above GU2Mie{] 518 y&i «i8]

3. Radio Mirchi belongs to which group? 2134l (Rl 521 Uil (Bl &2
A. Network 18. a2 1¢

B. Baskar Group (352 YU
C. Jagran Group 2121212l YU
D. None of the above GuMie(l 5165 Usl «1&]

4. What community radio can’t do? 51334(« 2] 3[S4) ] «t 53] 2137
E. Can't take advertisement. W5d2[65xie2 o1 @8 213,
F. Can't play film songs. [5&ell Aldl <11 yald] 213,
G. Can’t run PR for political leaders. 21514 aAdll «1l W12 4 53] 213,
H. All of the above GU32e] WY

5. Currently India is in which phase of commercial radio station? ®12dMi w13 s1M{ue 35
el 54 b wiell 260l &7

54
6. %
3.3
4.%

Y e

6. Which business group had stared the first commercial radio station?
Alell udq slufelua ASH) Ratet sul (A YU GIR1 AU S2AM] 1<y 2

India Today B[=5u1 23

Sun Group H= Y4

Dainik Jagran £.[1% 2191281

None of the above GUHie{] 516 it «i€l

oNnw®»

7. From given options, which city got the first private radio station? «(1d 2{{4€| [a5&d) 4ied] 51
2@ el udar wipde Tl Belet A 524 4113 &d?

A. Pune Yeil

B. Jaipur WYY

C. Madurai HEgR 1B

D. None of the above GUH[efl 516 Uy =il

8. While listening private FM radio, what you listen at starting of every hour?
syl dieiad] amd e sallsedl eviid Udl o dlell udal g Hiendl ud?



= 3¢~ 1
Jock Talk %15 215
Bumper &{343
Song Hlat
Station Jingle 322l R4

o0 ®p

9. What a radio station sale to client to do business? 315 3[SU] 2221l (el 5291 MI2 561U
9l A4 53 87

A. M2 Minute

B. Hour 58L5

C. Day (ead

D. None of the above GUHie{l 5165 Ut «ts8]

10. In podcast CTA means
UlssizeHi crasil wel ey 8
A. Come to Attend
B. Call to Action
C. Coin the Audience
D. Call to Audience

11. Duration of the radio Jock Talk and Podcast host's talk is always the same.
Ulss1eetl Sleedl did] 24a 351201 %) 5ledl clefledl Hry ERatl Ul o €1y 8.
A. True i.‘-l.lﬂi

B. False Wl

C. Can't say 5&] o ASIY

D. None of the above GuH il 516 Ul «ifs

12. Which one is not a podcast platform from given bellow?
1A= iuiell 53 Ulss12e] @e gl «eil?

A. Spotify

B. Cast Box

C. Anchor

D.Zee 5

13. Kahani Suno is the podcast show broadcasted on
sgtefl Al 2l el A2 U2 Wlss1z2 UM A B ?

A. Audible

B. Radio India

C. Gaana

D. All of the above GU=il t4H|

14. Subjects like Nutrition, story, Life style etc can be broadcast on podcast.
QN 1, didfd, algs @ied ¢33 Gyl R dlssize udiRd s2q 2 8.

A, True HlY ]') -0



= 1%y
B. False b{'lgl

C. Can't say 58l o ASIY
D. None of the above GUHie(] 818 Ul <&

15. Geographical range of FM radio and Podcast are same.
ollofl[@s 21A Fm 4 Ulssieedl culy qaudl o 1y B,
A. True Hl§

B. False "-i-['tg

C. Can't say €l « 2514

D. None of the above GUHi&] 516 ULl «(&

16. Mahabharat produced by Fever FM is available on with podcast platform?

§laz 25 . GR1 eetlcidd Heleilad 20l sul dlssize @eghiuz 87
A. Radio India

B. lio Saavan
C. Gaanma

D. None of the above GUM 2] 51¢5 ywy «€]
I — N —
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Integ LLB Sem.-5 Examination
IL BA/BBA/BCom 302
Administrative Law
Time : 2-00 Hours| May 2022 [Max. Marks : 60

—

Instructions:
a) Attempt any Three questions
b) Figures to the right indicate marks for each questions

Q1 Explain ‘Doctrine of Separation of Powers. Discuss its importance in relation to 20
Administrative Law.

Q2 What do you understand by ‘doctrine of delegatus non-potest delegare’? How is 20
delegated legislation controlled? Discuss the judicial control of Delegated Legislation.

Q3 What do you understand by *Natural Justice’? Discuss its scope. Whether Doctrine of 20
audi alteram partem or right of being heard has got statutory recognition in India?

Q4 What is the scope of Article 226 of Indian Constitution regarding the power of High 20
Court to control the Administrative Act?

Q5  Define Ombudsman. What are the functions and power of Ombudsman? What is the 20
position of Ombudsman in India?

Q6  What do you understand by ‘Public Corporation’? Discuss their importance in modern 20
times. Enumerate some of the important Public Corporation in India and discuss their
working.

LR R L L)
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Integ LLB Sem.-9 Examination
IL 502
Intellectual Property Law
Time : 2-00 Hours| May 2022 [Max. Marks : 60
Instructions '
a) Attempt any three questions from the following.
b) All questions carry equal marks.
I 1 | Write Short Notes on: 20

A) Infringement and passing off of trademarks

B) WIPO Copyright Treaty (WCT)
2 | Discuss the infringement of Copyrights, remedy and punishment for | 20
infringement in light of case laws.

3 | Discuss the patent registration procedure as per the Patents Act, 1970, 20
4 | Write short Notes on: 20
A) Compulsory Licensing

B) Industrial Design

5 | Discuss in detail the infringement of patents, remedy and punishment for | 20
infringement with examples and case laws.

6 | Discuss in the detail the Geographical Indication of Goods (Registration & | 20
Protection) Act, 1999. |

wRERS
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BSe Sem.-5 (F&S) Examination
CC-1
Special Fire Hazards
Time : 2-00 Hours] May 2022 [Max. Marks :

Section — 1 Attempt any three of the following questions. Each question carries 14 marks.

Q.No1(a)Describe basic fire fighting strategyin high rise building and what are the challenges
/difficulties encountered,

b)in how many categories the special structure has been divided ,

give 4 names of structure in each group.

Q.No2(a)Explain internal hazard, Personal hazard, and exposure hazard in case of high
rise building.
(b)Explain in details the Principle of life safety and its objectives.

Q1.No.3(a) Name the parts of an aircraft , various material used in construction

and thereby explain use of aluminium alloys and magnesium and its alloys

(b)what are the types of fuels used in aircraft ,explain both petrol and kerosene and in
category of petrol explain Av gas.

Q.no4(a)Describe any 2 fires Engine fire, wheel fire, cabin fire , vapour cloud

explosion
(b)what are the precautions to be observed while rescue from civil air craft and how

to approach aircraft when the engine are running.

Q.No.5(a)Write short note on any two High pressure, Hydrogen sulphide,
Structural damage by collision

(b)What are the different methods used to transport workers to off shore,which is most
common way,and write down names of 9 elements of personal responsibility for safety,

Q.Nob6(a)Howmany types of power generation stations are there,explain thermal power
station, with the help of diagram,mention advantages and disadvantages of thermal power

plant.
(b).Describe hydro electric power station with the help of schematic diagram and

advantages of hydro power station.

(AR



= 10u-=

Q.No7(a)Explain with the help of figure the working principal of nuclear power plant ,its
advantages and disadvantages.
(b)Write short notes on any 2 flame retardant cables, fire detection,
Bailer fire and explosion, contact with hazardous chemicals

Q.No8(a)What is abandonment , write down the list of group survival and personal survival
equipment.
b)List out the components of life raft and launching procedure for a throwable life raft.

Section 2 MCQ..Attempt any 8 questions of 1 mark each.

a.In which form coal is used in thermal power plant

chips, blocks, flakes, pulverized

b.which is most environment polluting power generation plant

coal, hydro, nuclear, gas based,

c.which is most desirable strategy to minimise impact of electrical fire
detection, suppression, compartmentation, prevention

d.In nuclear power plant the radio active source goes under which reaction
fusion, fission, chemical, thermal

e.Which is not true in case of thermal power plant

running cost is less than hydro electric plant

coal is cheaper

it requires less space as compared to hydero elect plant

it pollutes the atmosphere.

f.Cinema building falls in which category of special hazard structure
catl, cat2, «cat3, cat 4

g.which NFPA code deals with life safety in high rise buildings
100, 101, 102, 103,

h.Involving aircraft accident the color of tag used for delayed care
red, yellow, black, brown

i,The area where air craft goes for servicing is called

Terminal, tower, runway, hangar,

J.-This metal is easy to ignite

aluminium alloy, stainless steel, titanium alloy, none

r'_““%_m
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MA Sem.-3 Examination
501
Sanskrit

Time : 2-00 Hours] May 2022

n e e & o W o

&

yarit : (1) Eows-amidl siduer A8l W G vl
(2) [@ewor-2 wst . ¢ salud 6.

[doua-1
Al sldue 2w wet Guz awl
wilFysd (1290 2R wEARadrd Q3w qslal.
adoqing [@waqd yaiue @waysd (aug)d suml wyeadl.
groagsd (2.92)4 s demeadid 3w i wusil gelal.
MGddeati oll- deolui qaveysd (9.29)0 wed sl
Ay ysd (10ae)d aellfs Yoo ddlk [Qsdwa s3l

MA@ wzd 947 d awondl dal usil Gewam wlRda wpe s

amenad A wpll swidsl tadt [@uus wddl adlar sl
decsrsiz dadly apll suteedl i addl @l -l @il

[Aoun-2  (:l%wd)
qloy [Asey wae 53l Guz suul
(1) ‘s 7 wigeeesy | sul Ysdoll yadlsda o7
(w) wms (o) agat (5) =G (¢) wa
() [Egasd (Lawe)u sl s 67
(w) uyzoer (4) ddert (5) gpme (8) woauld
(3) omi W add sw dRs da ulie 87
(w) =4 (o) aga (5) s (8) yd
(%)  qzoysd (.ol sa keal =il &7
(») oc (o) 20 (5) 22 (8) u
(W)  DBrgu szl 54 heal vzl elu 97
(w) 3s (o) wo (5) wr (8) we
(s) dlRs detd serd -l Uy sul 7
(1) @@ (o) amp (5) & (&) amw
(@)  wfei ud« 23 [@REL ael s dsddl s asy o7
(w1) 6wz (o) aze (5) -uada (2) =6
(¢) wodeell @l kel sl wenrdl gld uddl o7
(») 200 (s) 2u0 (5) 300 (8) 1uo

[Max. Marks : 50

1%
1%
1%
1%
1%
1%
1%
1%
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MA Sem.-3 Examination

502
English
Time : 2-00 Hours] May 2022 [Max. Marks :
Instructions:
1) Attempt any three from Section I
2) Attempt any four from Section II
3) Total Marks : 50
4) Time: 2 Hrs
Section 1

Attempt any three from the following:

Q.1. Write a note on the process of selecting the research subject

Q.2. Discuss the various elements and the format of a research paper

Q.3. Discuss in detail the principles of intertextuality and bring out its relevance in research
Q4. Critically comment on the laws of Intellectual Property Rights

Q.5. Do you think that ICT is a boon or bane to research? Give reasons

Q.6. Write a note on plagiarism and measures to curb it

Q.7. Show how the Print Sources should be classified and evaluated

Q.8. Bring out the difference between summarizing and paraphrasing in research

Section 11
Attempt any four from the following:

1. Research is systemized efforts to gain new

A. Experience B. Outlook C. Knowledge D. Introduction
2. What is the opposite of Applied research?

A. Descriptive B. Quantitative C. Qualitative D. Fundamental
3. One of the following is not a component of field research. Which one?

A. Analysis of documents B. Questionnaire C. Telephone Survey D. Observation
4. Intertextuality is differentiated in and typological categories.

A. Symbolic B. Referential C. Textual D. Empirical

3. Intertextuality can be latent or deliberate, but not 3

A. Sustainable B. Predictive C. Exposed D. Avoidable

6. Intertextuality has its origin in the works of ;

A. Julia Kristeva B. Ferdinand de Saussure C. Levi Strauss D. Jacques Derrida
7. Summarizing is a process of rewriting and .

A. Condensing B. Elaborating C. Interpreting D. Explaining

8. Paraphrasing is important for presenting information from sources.
A. Obvious B. Hidden C. Partial D. Specific

50

(14)
(14)
(14)
(14)
(14)
(14)
(14)
(14)

@)
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HUR : 0R, Y Acll eurt(Qaur vial QR0 eusl@stot (shauss ERagss)

UM : 02 SCUS §CL 218l : uo
Reuat-q
(lAatl w6 uslMiel 516 uet 2ol waletl Griz wundl, (3@t : ¥?)
1Rl custlQsuat AR yeiot 5012 Headetl Nt Asu@BlAl Yetotoll 2l 53,
2%l eurlAstiot AN si2@s2ta0] Yol yadl,
3.8l et eAq] Al An@suol AR Yelol ual
¥yl U dej oaralcll curulsuot 83 yetet wuid,
G alldlos cautio] MRS oitryt [@siiot A yetol Ul
5. G Baugfatl “povRiell causeaiot oidll an” Yactsell ua s,
SAMUBs eumi@stst [Q3 ok il
¢ Hallou@siet (@9 ollu e,
[Qewar-2
e.o(lAstimiell A Ll AR uslotl gsuil Wellol w1, (0¢ 4Rl
Lisislaasl el yrasett Auise] it wudl,
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MA Sem.-3 Examination

502
Hindi
Time : 2-00 Hours) May 2022 [Max. Marks : 50
Remr:1 e e vl & @ At et oot & 3¢ w-Rear RfRT
( 9l 9T 14 30T F QW ) 42

e A F W qa Adew # vuse A |

WEA:2. T Alede & Ieufaag A §-Rear =arear e |
wea:3. ftwsr waeh fygia & =7 fifte

W4, FFEHTAE HT FTURON TAET |
ma:s.mﬁﬁtﬁmﬁmmld

W6, AU FH IRHTH T IHS G TABY |

wee:7, wregay gath) sfawe & fant & tose 3w |
WT:8. HTey W HN FeATTHAS H1 A A TE@T F FHSET |

femr:2 s R wat & ¥ el ar et & 3w e 08
1. FLHTT AGF & aqG FT A § -
A. ST 8. yfFgarg cafx b. STeje
2. el & aw § -
A, SATCTUTEA B. =g C. AEH D.31fwE oA
3. el & gorar Rwaw R frg g of e § 2
A. fER B.HTeY C. gaar D.3AH ¥ 1§ 7

4. FoUAT HI FieS FAT AT &2
Aval r afFd 8 fElw afa o A B aRE D ¥ 9 A
5.*ﬂaﬁaﬁﬁaﬁa=ﬂwﬂmwmmﬁmﬁ'mmmmmﬁ
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A. Fodd B. HIHE C. sRa#f D. gudt
8. FYWH ¥ FA §
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MA Sem.-3 Examination
502
Urdu
Time : 2-00 Hours) May 2022 [Max. Marks : 50
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MA Sem.-3 Examination
502
Psychology
Time : 2-00 Hours] May 2022 [Max. Marks : 50
YUell: URlS Usell JJQL HRuL B,
[Qewat-1
ellAetl w16 (8) usiHiell S ual 2.l Yslall aciior w0, 42
1. Helldstuls saldletl usiA Qo yxmal
2. 58| AUAAHl 52 vustiell sl Qo ul 53,
3. 5ol 2uett 3l AA awa B 7 gsaAlu cul.
4. 52l Yot 5708 Quuelladl, auidz s Quaellad wa wd@QRe

Qaaelladiell vaue amendl,

5. Ratfld- oflad ol sl il uigdle] agiet 5.
6. [AQu wulalRidl 582l (DAT) @A QoA wmendl.
7. [Olot cunusla sHWERA A sdaia? @t cusidla o 5031 (ToNI-4) 3L
8. Al Wsgu Barlls: unadl cuballe yeauiset 3l AA us wd?
Qeuar -2
9. oflAstl 216 YHIMIL SlFUBL AlRell Wl W 08
i HellMlUet (psychometric) w@otm ofl Aotiniiell ute] HIUeA 52 B9
(a) HollRAotetl Gael (b) oif&
(c) ARAAYSA uaal susticts wirlal (d) GURlset M

i. @S, w@aloud wal ofe s oe szl ealcdl asia B2
(a) Bl Yyrct el (b) culseicel caell
(¢) clBrie] calfcet (d) callsleel sl
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November - 2021
M.A.Sem-3
Psychology
502 : Psychology
(Psychological Testing-1)
Time: 2:00 Hours [Max. Marks : 50
Instruction: All questions carry equal marks.

Part-1

Answer any three from the following eight questions: 42
Explain in detail the types of Psychological Test.

Explain in detail the role of the examiner in test administration.

Write a short note on Test Construction.

Give the concept of Test-Retest Reliability, Alternate-Forms Reliability and
Split-Half Reliability.

Describe the Stanford-Binet Intelligence Scale-Fifth Edition.

6. Explain the Differential Aptitude Tests (DAT).

N e

Lh

7. What are non-language tests? Discuss the Test of Non-verbal Intelligence - 4
(TONI-4)
8. How can you assessment of Autism Spectrum Disorders?

Part-2
9. Answer any four out of eight. 08

i.  The psychometric approach measures which of the following?
(a) Psychopathology symptoms (b) Intelligence
(c) Neurological or cognitive deficits ~ (d) All of the above

ii. Achievement, aptitude and intelligence can be encompassed by the term.
(a) human potential (b) human traits
(c) human personality (d) human ability

T o
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iii.  Which of the following refers to concurrent validity?
(a) That two tests are done at the same time.
(b) Two or more clinicians agree on the outcome.
(¢) The items on the test consistently relate to each other.
(d) The notion that scores on a test correlate highly with scores from tests
that measure the same attribute.

iv.  Which of the following is true of test-retest reliability?
(a) The test is measuring what it claims to be measuring.
(b) The test will produce consistent results.
(c) The client will improve performance second time\round.
(d) All of the above.

v. The Wechsler adult intelligence scale can be used for:
(a) Only Intelligence (b) Intelligence and Cognitive Ability
(c) Intelligence and Aptitude (d) All of the above

vi.  An IQ test does NOT provide which of the following?
(a) High test re-test reliability (b) Good predictor of behaviour
(c) High internal consistency (d) Good validity

vii. In which year was the Leiter International Performance Scale (Revised) test

published?

(a) 1979 (b) 1997 (c) 2003 (d) 2005
viii.  Florence Goodenough constructed the test.

(a) Human Metrics (b) Interest test (c) Draw —-A-Man (D) RPM

— e —
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217 1105E188 Candidate’s Seat No |
MA Sem.-3 Examination
502
Indian Culture
Time : 2-00 Hours| May 2022 [Max. Marks : 50

NOTE: All Questions Carry Equal Marks.
oflel: ol o Uglledl el A B,

A1l Hiefl Slouat 24t Ul osciog il W 3=y
Ut HRAR Bldsel dtket d1d [issie] Hecd Huondl,

W2 MR sl geall 249 dlayied) [@9) 1iESd] 244

U3 MRdell Misd (issiudled] [dadd «ly qui)

W ¥ Rdld dgef 2oniledl @ssiadl quond),

WU SNIRL 1M=L [Rsst (A9l MifSd] wy),

W& Ulddlset [Ass124) (@9 «ily quq).

W9 FHRAM -141etl [RUss1letl (Gay usidle] qufel 532).

Y. ¢ beHel Rissivlel] [QaNdl eatld).
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M.A. SEM -II

MAY- 2022
SUB: INDIAN CULTURE (INDOLOGY)
INCL-502 STUDIES IN INDIAN NUMISMATICS-1

TOTAL MARKS: 50
NOTE: All Questions Carry Equal Marks.
“Altd: gyl o Uslledl AL AuL 8.

WRITE THE ANSWER IN DETAIL. (ANY THREE) 14*3=42
Q. 1: Explain the importance of coin as a tool of Indian History.

Q. 2: Provide information about the denominations and weights
of Indian coins.

Q. 3: Write a detailed note the Ahata coins of India.

Q. 4: Explain the coins of Indo-Greek kings.

Q.5: Give information about Kushan kings coins.

Q. 6: Write a note about Satavahana coins.

Q. 7: Describe the different types of coins of Kumar Gupta-1st.
Q. 8: Explain about Specialize in Skandagupta coins.

Q. 9: ANSWER IN BRIEF (ANY FOUR) 2*4=08
(1) Who is the author of 'Arithmetic'?

(2) Demonstrate different methods of coinage.

(3) When was the systematic study of Numismatic started?

(4) Establishment of ‘Numismatic Society of India’ in 1910
Where did it happen?

(5) Which titles are found on Kshatraps coins?
(6) By what name are the oldest coins found in India known?

(7) Which Mughal emperor engraved image of Ram - Sita on his
currency?

(8) What is the golden age of coins?
e "}(..—-—-.
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M.A. Sem.-3 Examination
502 - History
Economic History of Colorial India
Time : 2-00 Hours) May-2022

W

G w2

1105E189

LRI

Ad-uniefl sifuel A0l ualqu s sudl

el el o eua eRfRA waddit sudan sEddad 3w yadl.

oedly eGeloit Ydd HE-l siRel weudl.

waadl wll4 udya uglid yeuis sl

sPAL afirusaeed vag wee 53w wwsedl d Q] yeuis sl

dirals wesdl g R wyl sl

il wad M wesdl wielad yeuist sl

alet sllund @ls wdrs adly yeuis 53,

ettt Al =ufls Qarl qeldl.

[aeua-2

Qdeimiel slduel W s waol avl

(1)
()
(3)
()
()
(s)
()

(¢)

el welu Heeun effd eurdly widdAad |@3v
(wdyziotd, wsuad)
cdadl ugld sma sdl.
{zﬂ% wmﬂ WM, UL, FULR)
. odlvis deue Geloru [al .
(wudlem didl, seeud -gais)

DCM No. 1 Al BUME ovivemmiismmanees el
(e sl [dl, sadreus-u [ﬁm]
sals Wladl @yt e, 54,
(saqroud, wweuslsaid)

YHAED  didl] THEN oo, B

(qaadl, wMele)
coufe ol vy el
[&m&mﬁﬂ R, saqoeus)
coRElmally Byl uveun 54
(uade dlude, aa )

Candidate’s Seat No :
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1105E189-2

ENGLISH VERSION

SECTION-I

Write answer any three questions :

Evaluate the Nature of Indian economy prevailed during the mid 19th century.

State the causes for decline of Indian Handicraft Industries.

Evaluate the Ryotwari land revenue system.

Explain the term commercialization of agriculture and evaluate the policy of it.

Discuss the Famines policy of colonial Government.

Evaluate cooperative movements during colonial rule.

Evaluate Lala Shri Ram as an entrepreneur.

Describe economic ideas of Mahatma Gandhi.

SECTION-II

Answer the following questions (any four) :

(1)
(2)
3)
(4)
(5)
(6)
(7

(8)

Nature of the Indian economy during mid 19th century was .................
(Treditional, Communist)

..................... introduced Rytwari system.

(Thomas Manaro, M. R. Jaykar)

................... is the father of Iron and Steel Industries.
(Jamshedji Tata, Dadabhai Navroji)

DCM No. 1 was founded by ........ccooeneee

(Father of Lala Shri Ram, Father of Kasturbhai)
Ashok Mill was established by ...........cc.......... :
(Kasturbhai, Ranchhodlal)

Jamshedji Tata’s birth place is ....................

(Mavsari, Amdavad)

..................... was the founder of Arvind Mill.
(Kasturbhai’s Father, Kusturbhai)

..................... started Steam Ship Co.

(Valchand Hirachand, Lala Shri Ram)

14

14

14

14

14

14

14
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N7 1105E190 Candidate’s Seat No ;
MA Sem.-3 Examination
502
Political Science

Time : 2-00 Hours| May 2022 [Max. Marks : 50

Note: All questions carry equal marks.
olltl : Gl o Yalell QL ¥l B,

AlAn el sleuel ARl oelled 24, 14*3= 42

Q.1 es2Udeti Aw51REL (gl (Aedy dull,

Q.2 A% 2Ucletl A%S1281 A=A ussiRl YUl

Q.3 A2RUdeli 2A%51RCAAL Y1 A [doAd qumel.

Q.4 A2 Udeti AUYS1RQAAL 2 SIA wiel AHIES Ul [dadd 2d dxemdl.
Q.5 Ao AUAMi uat vell [agl [oin quil

Q.6 AeUcdedl ASIRBIMI 2L HI2 U615 el Ulddl «tefl? 2lai 521

Q.7 Ao Ucdeil wUEs (51 (A8l -1y auil

Q.8 AUdeli 2U1(Es (asid il ussil [@QL «llu auil,

Q.9 «{1Auiel SloUBl Ulketl g5HI wcilod 1YL, 2*4= 08

Q.1 AeRUdetl A S1 Sldet [@8l gsHi wwaldl.
Q.2 41U icldet [agl il
Q.3 A Uceti AEIRQM [Ered R+l 22 3L
Q.4 AerRideli %51 Sl (deofl 2443) agld).
Q.5 Wit[215 ueilefl curval 2l
Q.6 [Zual veile{l cuiul 241l,
Q7 AeUdetl wiels [Asiel A GelE L AL
Q.8 AeUcleti 2lietedl (AN 124 Ul
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=190 - 2
M.A. Semester - 11l
MAY-2022
Sub: Political Science

POL - 502 Politics in Gujarat

Total Marks: 50
Note: All questions carry equal marks.

olltl : Gl % Ysllell J[QL MWL 8,

Write the answer in detail. (Any Three) 14*3= 42

Write an essay on politics of Gujarat.

Discuss the challenges against Gujarat politics.

Explain in detail bases of Gujarat Politics.

Explain in detail political bases and social bases of

Gujarat politics.

Write an essay on party system in Gujarat

Why the regional parties not successful in Gujarat? Review it.
Write a note on economical development of Gujarat.

Write a note on the challenges facing the economic development
Of Gujarat.

B0 b

0000 0000
00 =] v LN

Q.9 Answer in Brief (Any Four) 2*4= 08

Describe in briel political history of Gujarat.

State about the mahagujarat movement.

Discuss effect of territory on Gujarat politics.

State effect of caste on Gujarat politics.

Define the regional parties,

Define two party systems.

Give two examples of economic development Of Gujarat.
State features of governance of Gujarat.
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2/102 1105E191 Candidate’s Seat No
MA Sem.-3 Examination

502
Economics
Time : 2-00 Hours| May 2022 [Max. Marks : 50
Instruction: 1 to 8 WR-l-l U5 uzviL 8. (3 A AR Al syeuist qvil) 42

Woael 9 5204 B

1 Wedll il ual WH@s crefall dat A2 drdlletl valle ¥umdl,

2 WA catell Halerll wal Aveiell Wills Yoy ot dnelotell eclldl ual

3 &R Udedl ol Reidl 2idett RRY U@L of getotiis Heuisel 53,

4 Ul HAA 2y 52 wALRAL of YA Atz 1R UBA wHen .

5 Ul AUTSRe UR Actot QAE 9@ WMl Actl a2t 243 568 A wuagell wedl 3.2
Ul Aozt Reicl ol A 56 AA YEl U3 B? 9 A AN 1ol 6l 3 A BAe- WSl
WE WAHL Ul i wUA As AANsRs AHwR W B? Al eclldlell wedsd
yeur 52l

6 &2 U Ul 52l Brecti 1l N Y. ARies el A WAl wxll

wgld R 2 53
7 5260 ol cull agugll AUt Raidl of uéls yeiisat 53l

8 WA W W Az oll dASleld dHmdl
9 oflActt Yallett 25ML Wellet MWL (SlSURL ULR) 08
162 catell stdugld weudl.

2 (s wedda Aed 97

3 wle wdaMl ol veue dauamdl.

4 U5 HelElol ugld

5 a1d2 WAHL il Actiall 51200 weud.

6 (RS 52 Aud wuandl.

7 A%2 54 5leoll Sloll c22 oiu e2id B,

8 52 eRalell AGA Wed 97 b
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Nov - 2021

M.A.Sem -3 502 : Economics

(Economics of Public Choice and Practices-1)
Time : Hours Max,Marks : 50

Instruction: 1 to 8 questions carry equal marks.(write any three) 42

Question 9 is compulsory

1 Explain the concept of private goods and collective goods and merit goods .

2 Discuss the limitations of the market system and the arguments in support of the economic
activity of the state

3 Compare the different approaches to the principles of public choice.

4 Explain in detail the theorem of impossibility with diagram presented by Pro.Arrow.

5 How have Prof. Wiseman and Alan Peacock explained the increase in public spending? How
does it differ from Prof. Wagner's principles? Do you think Wiseman-Peacock gives a
satisfactory Understanding of public spending and the increase? Prove the validity of your
arguments,

& Explain the explanation given by Prof. Gerald Scully regarding public expenditure and

optimal level of taxation with the diagram.
7 Accurately evaluate the principles of Fair distribution of tax burdan.

8 Explain the difference between income tax and expenditure tax.

9 Answer the following questions briefiy (any four) 08
1 Expiain the workings of the market system.

2 What is Mixed Economy?

3 Explain the concept of relative consensus.

4 Explain the concept of Digit voting system

5 State the reasons for the increase in public spending.

6 Explain the specific tax convergence.
7 The Laffer curve shows the relationship between whom.

8 What is the power to pay taxes?
— e —



1127 1105E192 Candidate’s Seat No :

MA Sem.-3 Examination
502
Sﬂtiulugy

Time : 2-00 Hours) May 2022 [Max Marks : 50

MAY- 2022 M.A SOCIOLOGY
TIME : 2 HOURS] SOC: 502 CHANGE AND DEVELOPENT IN TRIBALS [0 \iA*

FIEUERL =L ALl Syt AVl AMLH WAL 0L AL B,
Wn e any three. Each questions carry equal marks. 4: NhER II 5

1 sl 2iea1 WAL A ABEE-) 2] S5
DISCU3S ANTHROPOLOGICAL APPROACHES TO STUDY ABOUT TRIBALLS
2 | sularllsiiel wiudl srRUAL

DESCRIBE CHARACTERL:"I ICS OF THE TRIBALS.

3 | sl sidua o neadl 2nzusi il
DESCRIBE: ANY TWO IMPORTANT PROBI.EMS OF THE T RIBES.

4 | wularilsi Yottt A2stdl Wil L
 EXPLAIN G OVERNME—'NT EFFDRT': FOR EEHABILITATION OF TRIEALS.

5 | st 2wt 2 ARileion 2milrs 20 usdl soadd 2 1, |
 DISCUSS THE SOCIAL AND POLITICAL LIFE OF THE TRIBES IIN THE PRESEL Y

6 | il widia 5B el vZaunl 2l
 DISCUSS THE CAUSES AND CONSEGUENCES OF THE TRIBAL . MCVEUENT,

7 | wulariloll gaaden v Qa -Hiu avil
| WRITE A MOTE ABOUT INTERGRATIONAL. EFFORTS FOR TRIBALS. |

g | wularilsii-u oitwrells sfsil 2l si
 DISCUSS THE CGH‘“ ITUTIONAL RIGHTS OF THE TRIBALS.

Q;H syclol UL (sldum AR)  Aanswer in Brief: (any four) 08 MARIC
1 | el e vl
GWL THE DEFINITION OF TRlEHL

o | wlltadl viinw izd 4?

WHAT IS THE MEANING OF ‘TRIBAL IDENTITY'?

3 | sl dnimdl e 52412 5 Sue o sl - apL sl
NAME ANY TWO SOCIOLOGISTS WHO HAVE STUDIED TRIBAL SOCIETY.

4 | s iy el yedsl @vis sla 97
WHOQ 15 THE AL}THDF‘ OF THE BOOK 'THE COMING OF GODDEEES™? |
5 | AL siEue of pifRandl e A1 L
| NAME ANY TWO TRIBAL COMMUNITIES OF GUJARAT,
6 | w497

| WHAT IS THE 'PESA ACT'?

7 | wiad] iyl vied 47

| WHAT IS THE FIFTH SCHEDULE?
8 | midRell ol us12 UL

GIVE TWO TYPES OF MIGRATION.
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a7 1105E193 Candidate’s SeatNo:

MA Sem.-3 Examination
502
Philosophy
Time : 2-00 Hours) May 2022 [Max. Marks : 50

YA (1) wat s 1 ell 2 Hidl Sup @ ualn Griz Qv udls us 17 9@ 8,
(2) Mt 535 ¢ 52[ud 8. d-u ¢ @ D,

YAl draliscl a9ldl, slylAsdl 2 AgAyRAsa A e 53],
gAYl sAtUElA] 1R st A draHliA] Hasdal 2w 53],
& 51+l stivisf YUctrd {3+ [ reual.

51+l Blasit i »i00+4) vte 44l

3Rt vz [acal varet a4wdl, A= g2 seaHi el »iqel 24914,
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Instruction : (1) Write answers of any Three from question no. 1 to 8.

L~

Each question carries 14 marks.
(2) Question 9 is compulsory. It carries 8 marks.

Describe the characteristics of Modernism and clarify difference between
Modernism and Post-Modernism.

Clarify the impossibility of epistemology and Metaphysics according to
Post-Modernists.

State Foucault’s thoughts on The Archaeology of Knowledge.

Explain Foucault’s concept of Historiography.

Explain the concept of Difference according to Derrida and explain the
incapability of language to get over it.

Clarify impossibility of metaphysics and the marginalization of philosophy
according to Derrida.

Give explanation of post-sectarian and post-secular society according to
Habermas.

Give explanation of radical multiculturalism according to Habermas.

Write answers in one or two sentences of Any Four from the
following questions :

Give any two characteristics of Modernism.

Which is prime source of knowledge according to Modernism ?

Intellect is considered as what by post-modernists ?

- What is impossible in The Archeology of Knowledge according to
Foucault ?

5. Derrida gives no importance to which element of Philosophy ?

6. How is the nature of Philosophy according to Derrida ?

7. Which is post-sectarian society according to Habermas ?

8. Which is post-secular society according to Habermas ?

Ja d B o=
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Section |
Describe structure of silicate minerals

Discuss feldspar family.
Write a note on mica mineral family,

Discuss pyroxene mineral family.
Write a note on zeolite mineral family.

Explain amphibole family.
Describe garnet mineral family.

Discuss uniaxial and biaxial interfercnce figures.

Describe extinction.
Write a note on optical accessories,

Explain tourmaline type.

Discuss monoclinic crystal system.
Describe twinning in crystals,

Section 11
Answer the following questions in short.
What is a mineral?
Define felspathoid.
What is olivine?
Define amphibole.
What is quartz wedge?
Define interference colour.
What is triclinic system?

Draw a diagram of stereographic projection of triclinic system.

— X —

[14]

[07]
[07]

[07]
[07]

[07]
[07]

[14]

[07]
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Instructions: (1) All Questions in Section I carry equal Marks.
(2) Attempt any THREE questions in Section L
(3) Questions IX in Section II is Compulsory.
(4) Draw Figures where necessary. Show question number against each answer.
(5) Figures in right are marks.
Section-I

1. (A) Explain Types of Food Chain.
(B) Describe Ecological Pyramids.

2. (A) Detailed Note on synthetic characteristics of ecology.
(B) Explain analytical characteristics of ecology.

3. (A) Short note on India is mega diversity Nation.
(B) Describe Terrestrials Biomes with examples.

4. (A) Give tropical forest and desert biomes with examples.
(B) Describe Tundra and Grassland biomes.

5. (A) Explain Ecological Succession process.
(B) Describe primary and secondary succession process.

6. (A) Short Note on Antagonism and Mutualism process.
(B) Describe commensalism and Parasitism process.

7. (A) Give detail Note on Xerophytes with examples.
(B) Describe Hydrophytes with examples.

8. (A) Explain Halophytes and Epiphytes with examples.
(B) Describe Mesopytes with examples.

9. Answer in short (Any Eight)

L T B B B s B .

1. Species Diversity includes...
(A) Species Abundance
(B) Species Richness
(C) Taxonomic Diversity
(D) All of the above

2. Which is the best example for Ex - situ conservation?
(A) Natural Park
(B) Botanical Gardens
(C) Biosphere Reserves
(D) Reserved Forests

3. Pond and Rivers are the type of which biomes?
(A) Fresh water Biomes
(B) Marine Biomes
(C) Estuary Biomes
(D)Rain Forest Biomes

4. Pyramid of numbers for Grassland ecosystem is
(A) Inverted

(B) Lateral f) T e
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(C) Upright
(D) None of the above

5. Which of the following zone lies at the bottom of the sea?
(A) Littoral
(B) Benthic
(C) Neritic zone
(D) Pelagic zone

6. White coat (fur) of Polar bears helps them to
(A) Camouflage
(B) Look Big
(C) Dry Faster
(D) Stay Healthy

7. In Ecological Succession, the intermediate developmental phase is known as
(A) Climax
(B) Nudation
(C) Sere
(D) Ecesis

8. Given what you know of Rain Forest Biomes which statement is most likely True,

(A) Plants and animals are adapted to a lack of water due to heat

(B) Plants and animals are adapted to a lack of water due to freezing
temperatures

(C) Rainfall amounts many not be enough to support many trees

(D) Rainfall happens almost every day

9. Which of the following ecosystem consists of forest, grassland and deserts?
(A) Artificial ecosystem
(B) Aquatic ecosystem
(C) Natural ecosystem
(D) Terrestrial ecosystem

10. Lithosphere sérves as a reservoir for
(A) Nitrogen cycles
(B) Carbon cycles

(C) Oxygen cycles
(D) Phosphorus cycles

11. Decomposers help in
(A) Recycles Nutrients
(B) Breaking Down Dead Waste
(C) Both (A) and (B)

(D) None of the above

12. Swollen Stem of Cactus is important for
(A) Absorb more oxygen
(B) Absorb more carbon dioxide



(C) Absorb more sunlight
(D) Absorb more water

13. Autecology is the study of ecology of
(A) Individual

(B) Population

(C) Species

(D) Both (B) and (C)

14. A food chain starts with a
(A) Producer

(B) Consumer

(C) Decomposer

(D) Scavenger

15. Plants growing in dried conditions tend to have small number of stomata on
their lower leaf surface to save
(A) Stored Sunlight
(B) Water Loss

(C) Energy Loss
(D) To prevent itself from consumers

16. In ecological succession, the final stable community is known as
(A) Final Community

(B) Ultimate Community

(C) Climax Community

(D)Seral Community

17. A network of interconnected food chain is called
(A) Food Web
(B)Web Cycle
(C) Chain Web
(D) Ecosystem

18. The interaction between the members of different species are called.
(A) Interspecific interaction

(B) Competition

(C) Intraspecific interaction

(D) Predation

19. The development of vegetation community in any ecosystem or habitat is
affected closely by the

(A) Climate

(B) Physiography and Landforms

(C) Soils

(D)All of the above

20. The Ascaris, Entamoeba and Plasmodium are considered as examples of
(A) Endoparasite

Pile



(B) Ectoparasite

(C) Digestion parasites

(D) Synthetic parasites .

21. The kind of symbiosis in which only one partner is benefited and the other is not
harmed and benefited is called as ?

(A) Temporary parasitism

(B) Temporary mutualism

(C) Permanent mutualism

(D) Commensalism

22. Which of the following is not related to the ecological succession?

(1) Ecological succession often requires an initiating disturbance, for instance, a
volcanic eruption, strong winds, or a practice such as prolongad over -
grazing :

(2) The organic realm or biosphere is shown in three compartments: producers,
consumers and decomposers.

(A)Only 1

(B) Only 2

(C)Both 1and 2

(D) None of the above
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Instructions:AllCQuestions in Section = | Carry Equal Maris.
Attemnpt any Three Question in Section = 1.
Question | in Section = Il is COMPULSORY.

SECTION - i
a- | A: what are the fundamental activities of software process? 7
B: What are the activities of software project management? 7
a-u A: Explain Requirement analysis phase of Waterfall model? 7
B : Explain various stages of waterfall model with neat diagram. 7
Q-1 A: What are the different types of requirements? Explain in detail, 7
B : Explain Software characteristics? 7
Q- IV A: Discuss about level of testing? 7
B: Differentiate between integration and system testing with example. 7
a-v A: Differentiate between organizational level and project level quality management? 7
B: what do you understand by top-down decompaosition in the context of structured 7

analysis? Explain your answer using a suitable example,

Q-VI  A: What s use case Model? Draw use case diagram for Supermarket Prize Scheme, 7
B ; Explain dataflow based testing in white box testing. 7
Q- VIl A: Explain the shortcoming of DFD model. .
B: Draw UML activity diagram that shows a workflow for a project planning process. 7
Q- Vil A: Define cohesion? Explain about different types of cohesion. 7
B : What are the tasks performed in Coding phase? i
SECTION - i
Q- 1% g

1) What is the first step in the software development lifecycle?
a. System Design
b. Coding

c. System Testing
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d. Preliminary Investigation and Analysis

2) What does the study of an existing system refer to?
a. Details of DFD
b. Feasibility Study
t. System Analysis
d. System Planning

3) Which of the following is involved in the system planning and designing phase of the
Software Development Life Cycle (SDLC)?

a. Sizing

b. Parallel run

c. Specification freeze

d. All of the above
4) What does RAD stand for?

a. Rapid Application Document '

b. Rapid Application Development

C. RE[atii.re Application Development

d. None of the above

5) Model selection is based on
4. Requirements
b. Development team & users
c. Project type & associated risk
d. All of the above

&) Which of the following models doesn't necessitate defining requirements at the
earliest in the lifecycle?

a. RAD & Waterfall

b. Prototyping & Waterfall

c. Spiral & Prototyping

d. Spiral & RAD
7) When the user participation isn't involved, which of the following models will not
result in the desired output?

a. Prototyping & Waterfall
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b. Prototyping & RAD

c. Prototyping & Spiral

d. RAD & Spiral
8) Which of the following model will be preferred by a company that is planning to
deploy an advanced version of the existing software in the market?

a, Spiral

b. lterative Enhancement

c. RAD

d. Both (b) and (c)
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All the question in section I carry cqual marks.
Attempt any three questions from section L.
Soction I is compulsory.

Section-1

1. (A) Define Consistency. State and prove the sufficient condition for consistency.
(B) State and prove Rao-Cramer Inequality for the variance of an unbiased estimator.

2. (A) Explain the concept of Unbiasedness. For any distribution, show that sample mean
is an unbiased estimator of the population mean.

(B) Let X;, X3, ,X,,_be a random sample of size n from N(0,0?) distributicn. Let
=197 (X,—X)? be the sample variance. Show the sample variance is consis-

im]

tence estimator of o¥.
3. (A) Let Xy, X5, -, X, be a random sample of size n from U(8,6 + 1) distribution.
Show that the sample mean is both unbiased and consistent estimator of ¢ + 1
(B) Let X;, X3, '+, X, be a random sample from N (u,0%) distribution. Let s* =
Ly (X: — X)? be the sample variance. Obtain the efficiency of “f':;
4. (A) Explain the method of Moment estimation.

(B) Let X3, Xa,-++, Xn be a random sample from U(0,8) distribution. Obtain maxi-
mum likelihood estimator of #.

(A) Explain the method of maximum likelihood.

(B) Let X, X3, -, X be a random sample of size k from a NB(r,p) distribution.
Obtain method of moment estimator of r and p.

on
Ey

6. (A) State and prove the factorization theorem on sufficicncy (Discrete case).
(B) From efficiency point of view compare sample mean and sample median as estimator
of parameter u of N(u,o?) distribution.
7. (A) Define MVUE. Show that MVUE is unique.
(B) Let Xy, X3, , X, be a random sample from Bernoulli distribution with paramecter
p. Show that 7' = $"I_, X; is a sufficient estimator of p.
8. (A) Obtain 100(1—a)% confidence interval for the variance of normal distribution when
its mean is unknowr.

(B) Obtain 100(1 —a))% confidence interval for the population proportion in binomial
distribution.

Section-11

Page 1 of 2 Please go on to the next page. ..
fT.o
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9. Select the correct answer:

(i) If an expected value of an estimator is not equal to the parameter, then it is said
to be

A. Unbiased estimator B. Biased estimator C. Consistent estimator D. Ef-
ficient estimator
(i) If an estimator T,, of population parameter f converges in probability to # as n — o0
then it is
A. Unbiased estimator B. Efficient estimator C. Biased estimator D. Con-
sistent estimator
(iii) The denominator of Rao-Cramer inequality is called
A. Upper bound of the variance
B. Lower bound of the variance
C. Fisher's information function
D. None of the above
(iv) If an estimator is MVBUE then
A. Rao-Cramer Lower bound < actual variance
B. Rao-Cramer Lower bound > actual variance
C. Rao-Cramer Lower bound = actual variance
D. Cannot say surely
(v) In finding the confidence interval, the quantity 1 — o is called
A. Level of significance
B. Width of the confidence intcrval
C. Confidence cocfficient
D. None of these
(vi) The formula for the confidence interval for the variance of normal population involve
A. t distribution B. x? distribution C. F distribution D. Z distribution
(vii) Consistency of an estimator is
A. Large sample property
B. Small samplc property
C. not rclated to sample size
D. related to any sample size
(viii) For fixed confidence coefficient, the most preferred confidence interval for the pa-
rameter # is one

A. with largest width  B. shortest width C. with an average width D. none
of these

Page 2 of 2 End of Paper.
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| Instructions:
’ | I} All questions in Section-I carry equal marks
2) .Attempt any THREE questions in Section-1
I 3) Question IX in section II is COMPULSORY
[ -
]_ | Section-|
QT |
| A) | What is differential amplifier? Explain basic differential amplifier with 07
| necessary circuit diagram., |
t B) | Write notes on Widlar Current source. 07 |
Q- |
F A) | Draw the circuits for improving CMRR and explain it in detail 07
B} | Explain complimentary emitter follower Output stage and level translator in 107 |
I | brief ,|
XTI ]
| A) | Explain inverting and non-inverting summing amplifier with necessary circuit ﬂ?_[
diagram
'» B) | Explain following Op-amp circuit using diode 07 |
| (1)Peak detector (2) C lipper f
IV | |
)ﬂ A) f Explain voltage to current converter and current to voltage converter with 07
necessary circuit diagram.
| B) " Explain following applications of V- converter. 07
|_ (1) Low voltage DC voltmeter (2) Zener diode tester _1
e
A) | Explain block diagram of IC series regulator and also explain Zener voltage 07
reference circuit of regulator
B) | Explain 3-terminal positive voltage regulator with its functional block diagram | 07
07

A) ! Explain 4-terminal positive regulator with necessary circuits

B) | Write short notes on Open loop current regulator

QI ]

r A) | Explain basic switching regulator with necessary circuit diagram

._B) | Briefly explain circuit diagram of positive switching regulator using IC LMI05 | 04 |

Q.VIII | ]
t A) | Discuss free running switching regulator with necessary circuit diagram 10
04

—B) | Briefly explain switching regulator using 3-terminal Linear regulator

B ' Section-11

!_Q—IX | Answer following in brief (ANY EIGHT)

(A) | What is the main purpose of differential amplifier?

|_(B) | Draw the schematic block diagram of an Op-amp




el U 8 8

(C) | What do you mean by Current mirror?

(D) | What are the main requirements of good current source?

(E) | Draw the circuit of adder-subtractor using op-amp

(F) | State the important features of an instrumentation amplifier.

(G) | Draw the precision full wave rectifier circuit using OPAMP

(H) | What are the applications of the I/V converter?

(1) Write the full form of SOA

(J) | What do you mean by circuit limit and safe area limit in regulator protection?
~ (K) | Which IC’s are come under 3-terminal positive voltage regulator?

(L) | Draw the circuit of fixed dual tracking regulator

(M) | Draw the block diagram of switching regulator scheme

(N) | Which IC’s used as positive switching regulator?

(O) | Draw the block diagram of switching regulator with pulse width modulated

control
(P) | What are the main purpose of the switching mode operation

— Ne.—
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Instructions:
(1)  Answer questions in Section I carry equal marks.
(2) Atempt any THREE questions in Section 1.
(3)  Question 9 in Section II is COMPULSORY,

Section - [

Q.1 Describe :

(i) Chara - globule. (7)

(i1) Female conceptacle of Sargassum. (7)
0.2 Describe :

(i) Polysiphonia Cystocarp. (7)

(11) Use of algae as pollution indicator. (7)
Q.3 Describe :

(1) Asexual reproduction in Erysiphe. (7)

(11) Peziza apothecium. (7)
Q4 Describe :

(1) Sexual reproduction in Aspergillus. (7)

(11) Mushroom cultivation. (7)
Q.5 Describe :

(1) Tikka disease of Groundnut. (7)

(i1) Citrus canker. . (7)
Q.6 Describe :

(1) Red rot of Sugarcane. (7)

(11) Leaf curl of Papaya. (7)
Q.7 Describe :

(1) Sexual reproductive organs of Pellia. (7)

(11) Internal structure of Anthoceros thallus. (7)
Q.8 Describe :

(1) Comparative account of thallus of Pellia and Polytrichum. (7)

(1i) Sporophytic phase of Polytrichum. (7)

PT.0.
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Section - II

Answer in short (Any eight )
(1) Write the types of false branching in Scytonema.
(2) Give only outline classification of Sargassum.
(3) Give name of sexual reproductive organs of Polysiphonia.

(4) Write the names of photo synthetic pigments of Polysiphonia.

(5) Which is disease occur by Erysiphe?

(6) Write the name of smut found in Ustilago.

(7) What is cleistothecium?

(8) Which is fungi known as cup fungi?

(9) White rust of Crucifer disease caused by which fungi?
(10) Write any two symptoms of White rust of Crucifer disease.
(11) Write any two methods to control Wart disease of potato
(12) Which is Pathogen ot Wart disease of potato?

(13) Which is dominant phase of Pellia?

(14) Draw labeled diagram of Anthoceros antheridium.

(15) What is elaterophore? Write its function.

(16) What is trabeculae of Polytrichum?

(8)
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Instructions: (1) All Questions in Section I carry equal marks.
(2) Attempt any THREE questions in Section L.
(3) Question-9 in Section I is COMPULSORY.
0Q.1. (A) Describe Hydrosere Succession

(B) Describe Importance of Ecological Succession.
Q.2. (A) Describe Xerosere Succession.
(B) Explain-Community periodicity
Q.3. (A) Describe male reproductive system of scorpion with diagram
(B)Explain: Sycon and Leucon type Canal system
Q.4. (A) DescribeCirculatory system of Scorpion with diagram.
{B) Explain: Nephridia and Coelomoduct in Annelida
(Q.5. (A)Describe: Nervous system of Cuttle fish.
(B)Decribe zoea and megalopea larva
Q.6. (A)Describe digestive system of cuttle fish
(B) Describe: Excretory organsin Arthropoda
Q.7. (A)Explain digestive system of star fish
(B)Write note on: Brachiolaria and Ehinopluteus larva.
Q.8. (A) Describe only- Water vascular system of star fish.
(B) Write note on: General characters of Brachiopoda
(.9. Give answers in brief. (Any Eight).
|- Write the order of succession in a xerosere
2. Define: Autotrophic succession.
3. What is of biotic Community?
4, Explain Term-Retrogressive succession
5. Write function of Pecten
6. Write two ecological adaptations in Chaetopterus.
7. Write place and Number of Book lung in Scorpion.
8. Define: Scleroblast

9. Write the name of Respiratory pigment in blood of Cuttle fish.

10. What is Sea-foam?
11. What is Torsion?
12, Define: Umba.

13, By which other name i1s Doliolaria larva known?
|4. Which larva is present in Arnistotle’s lantern?

| 5. Give difference of oral and aboral surface in Starfish

| 6. How many pairs of Gonad in Starfish
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Instructions:

(1) All questions in section I carry equal marks.

(2) Attempt any THREE questions in section L.

(3) Question IX in Section IT is COMPULSORY.

(4) Draw figures where necessary. Show question number against each answer.
(5) Figures in right are marks.

Section I
Q.1 (A) Whatis the significance of genome mapping? Write a brief note on
cytogenetic map. 7
(B)Discuss Role of molecular markers in genetic mapping 7
Q.2  (A) Nlustrate genetic map of Saccharomyces cerevisiae. 7
(B) Discuss applications of human Genome project. 7
Q.3 (A)Explain DNA sequencing me Maxam Gilbert method. 7
(B) write a note on mRNA isolation and cDNA preparation. 7
Q4  (A) Write a detail note on plasmid isolation from Bacteria. 7
(B) Discuss Fluorescent in situ hybridization and its applications. 7
Q.5 (A)What is an artificial chromosome? Describe YAC in brief. 7
(B) What are restriction enzymes? Discuss their role in rDNA technology. 7
Q.6  (A) write a note on gene library and list out difference between c¢DNA and gene
library. 7
(B) Discuss outline of recombinant DNA technology. 7
Q.7 (A)What is Operon? Explain negative control in lac operon with suitable diagrams.
7
(B) Explain attenuation regulation in operons stating suitable example. 7
Q.8  (A) What are exons and introns? Describe regulation of gene expression by
methylation of DNA and histone in eukaryotes. 7
(B) Explain regulatory mechanism in bacteriophages? 7
Section 11
Q.9 Answer the following (any eight) — B

Q.1 What is the unit of a genetic map?

(1) Centimeter
(2) Nanometer
(3) Angstrom
(4) Centimorgan

TTo



Q. 2 International Human Genome project was initiated by

(1) National Institute of Health (NTH)
(2) Celera genomics

(3) US Department of Energy (DoE)
(4) d)NOH and US DoE

Q. 3 The variation in the restriction lengths of DNA fragment between individuals of a
species is called-

(1) AFLP
(2) RFLP
(3) SSR

(4) RAPD

Q.4 The lactose repressor is encoded by

(1) Lac-i

(2) Lac-A
(3) Lac-Y
(4) Lac-Z

(.5 Where does a repressor bind an operon?

(1) Operator

(2) Promoter

(3) Inducer

(4) Catabolite activator site

Q.6 The lac repressor has which of the following DNA-binding motif?

(1) Helix-turn-helix
(2) Zinc finger -
(3) Homeodomain
(4) Leucine zipper

Q.7 Which of the following types of RNA occurs in largest amount amongst cell RNAs?

(1) mRNA
(2) Tma
(3) sSRNA
(4) rRNA

Q.8 Ligase enzyme is used for

(1) joining bits of DNA

(2) splitting DNA thread into small bits
(3) denaturation

(4) none of the above

Q.9 A gene for insulin has been inserted into a vector for the purpose of obtaining its protein
product only. Such a vector is called

(1) expression vector
(2) suppression vector
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(3) storage vector for genomic library
(4) none of the above

Q. 10 Transfer of recombinant plasmid into E. Coli cells to make them competent needs

(1) heat treatment

(2) UV rays treatment
(3) Cacl2 treatment
(4) lysis

Q. 11 Which of the following statement about a vector is correct

(1) all vectors are plasmids only

(2) plasmids, phages can be used as vectors
(3) fungi can also be used as vectors

(4) cyanobacteria can also be used as vectors

Q. 12 Restriction endonucleases cut DNA at a specific site called
(1) ligation site
(2) ori
(3) recognition sequence
(4) replication site
Q.13 VNTR s -

(1) variable nucleotide triplet repeat
(2) 2.variable nucleoside tandem repeat
(3) variable nucleoside triplet repeat
(4) 4.variable number of tandem repeats

Q. 14 Which one of the following statements about human genome project is NOT correct

(1) it helps in identifying the exact location of genes on chromosomes

(2) the information gathered from this project helps in curing genetic diseases

(3) this helps in developing artificial organs

(4) it helps in determining the sequence of 3 billion base pairs that makes up human
genome

Q. 15 A Lac repressor is a tetramer repressed when bound to the inducer. The trp repressor is
a

(1) Dimer inactivated when bound to the inducer
(2) Dimer activated on inducer binding

(3) Tetramer inactivated on inducer binding

(4) Tetramer activated on inducer binding

Q.16 When uncharged tRNA concentration is low what will you expect as the activity of
tryptophan operon?

(1) Low
(2) Medium
(3) High

|
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(4) Very high

Q. 17 In which microorganism will you find attenuation by alternate loop formation due to
ribosomal stalling?

(1) §. aureus

(2) E. coli

(3) S. typhimurium
(4) B. subtlis

Q. 18 molecules used for quorum sensing in Gram-positive bacteria are-

(1) Allo inducer
(2) Auto inducer
(3) Exo inducer
(4) None of the above

Q. 19 a state in which specialized cells are produced within a biofilm. These cells are not
actively growing or dividing cells, they are not susceptible to antibiotics and are specialized
survivor cells-

(1) persistor cell

(2) recalcitrant cell
(3) sensitive cells

(4) None of the above

Q. 21 Differential expression of the genetic material depending on its parentage of
inheritance gives

(1) Penetrance

(2) Expressivity

(3) Imprinting

(4) Non-penetrance

Q.22 Choose the wrong statement in the regulation of imprinting.

(1) Methylation of the C residues are seen in the CpG islands

(2) The methylation prevents binding of the RNA polymerase

(3) Genes are methylated at random

(4) Deletion of gene with methylated CpG islands will have no effect

o=, -
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(2) Wé 1 ot w6 (¢) UstHiell S8 WL A0t (3) Ystell wallol WML Bl Wil £35
Usioll QL 1¥ B3l Weell 5E JoeUR ¥2 8.

(2) To answer any three of the eight in part-1.Each question mark of this part is 14 .The
total value of this part is 42.

(3) We 2 otic yauiell A8 UGl ¥ Yot Wellol UL B Ul E35 YUsall 8L 2
Bl el §e JReuR ¢ B.

(3) To answer any 4 of the 8 in pant-2.Each question mark of this part is 2 .The total
value of this part is 8.

Part:1
Ys:4 wdeloj Wael wal u¥etol uMHAl Explain the Plato’s life and creation.
Ya:2 el 4ol BlcHiell e3Ual {HACALExplain the nature of the soul according to Plato.
Us:3 llGSletotl o212t uidlelt QU #HMAl Explain the Glaucon's thoughts on justice.
ya:y V3HeUel Al Blell [AARLA UMl Explain the Adeimantus’s thoughts on
justice.
Y#H:M o2 Blel Yol MMl Explain the justice and happiness.
ys:s w2lell Blawg utuldal MMl Explain the Plato's education method.
U9 UEAAANIML Hloll et ¥Mecl. Explain the place of woman in an ideal town.
Ust:¢ wdalell HIAAUE UM Al Explain the Plato’'s communism.
Part:2

1. ettt Yulel cectsitofl 5181 a7 () WHRY («) @2l (5) Asia (5) WRmusA
Who was the famous philosopher of Aethinz?
(A) Socrates (B) Plato (C) Sefalas (D) Polimarkas
2 AU dctol 5] &f? (W) B Ulet (6l) BllEeds (5) G (5) Alat
What was Sefalas hometown? (A) Japan (B) Aethinz (C) India (D) Chin
3.0@HsA Slell Yot B72(u) A2l (o) ARAsH (5) Asc (5) AERA
Whaose son is Polimarkas? (A) Plato (B) Thresimeks (C) Sefalas (D) Socrates
¥ XALGSlet il D32y Sletl aueS B2 (v)AsIAY (o) UlAHs (5)ABRY (s A2
Whaose brother is Glaucon and Adeimantus?(A) Sefalas (B) Polimarkas (C) Sourates (D) Plato
Wodl2l W@ Bl MM dg Asll e ccdot du slot 53 B7(w) WA (o)UBRA
(s)AsEA™ (5)w@el Who Says justice means
treating him like a man?

{A) Polimarkas (B)Socrates (C) Sefalas (D) Plato

Too



C =pb- L
s.olndlotell B Raia el ofls ssll w8l «t2ll Au slel 56 87
(BUAsE (o) RS (5)DRms (5)ERA
Who says justice has no meaning other than the interests of the strong?
(A) Sefalas (B) Thresimeks (C) Polimarkas (D) Socrates
g.2uusell oet sl B7 () Budoy) awll (5) [@QaAs (5) wu
What is the quality of the ruler?(A)Hinmat (B) Vani (C) Vivek (D) Samaj
¢.2ei50] ulds 52 B7(u)AMS(61) divj(s) Wef () el
What is the symbol of the guard?(A)lron (B) Copper (C) Gold (D) Silver
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ENGLISH VERSION

SECTION-I
Write answer any three of the following questions ;
Discuss the factors responsible for national awakening in India
Discuss the main factors of the movement in Indian National Congress in the early phase between
1885 to 1919 A.D.
Discuss the causes of Swadeshi movement.
Evaluate the causes and Resultes of Non-co-operation (1920-22) movement.
Discuss the importance of civil dis obedience (1930-32 A.D.) movement.
Review the Round table confereuces.
Write a critical note on “Quit India” (1942 A.D.) movement.
Explain the Indian Independence Act of 1947 A.D.

SECTION-II (Compulsory)
Choose the correct answer (any four) :
(1) Which year founded in “Indian National Congress™?
(a) 1885 A.D. (b) 1884 A.D. (c) 1883 A.D.
(2) Where was the congress divided in the session of 1907 A.D.
{(a) Surat (b) Delhi (¢) Madrash
(3) Who make partition of Bengal?
{a) Ripan (b) Curzon (c¢) Lytton
(4) Lokmanya Tilak in a letter named which hardly criticized the working style of the British.
(a) Patriot (b) Keshari (¢) Bangdoot
(5) In which city did Jallianwala baag massacre take place?
(a) Lahore (b) Firozpur (c) Amritsar
(6) Which commission was sent to India by the British Government in 1927 A.D.
(a) Hunter Commission (b) Cripps Commission (¢) Simmon Commission
(7 Who gave the slogan of “Do or Die” ?
(a) Gandhiji (b) Sardar Patel (¢) Jawaharlal Nehru
(%) In which year Indian Independence Act was implemented.
(a) 1946 A.D. (b) 1947 A.D. (c) 1949 AD.
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ENGLISH VERSION

SECTION-I
White answer any three of the following questions :

Explain the meaning of international relations and disscuss its scope.

Analyse the Idealistic Approach to the International politics.

Write note on Balance of power.

Discuss the various elements of National power.

What is cold war? What are the reasons behind end of cold war.
Write an essay on post-cold war era of International politics.
Explain the aims and principles of UNO.

Discuss the New Intemational Economics order (NIEO).

SECTION-II (Compulsory)
Answer in one or two lines (any four) :
(1) What is the nature of Intemational relations?
(2)  What is realistic approach?
(3) What is National power?
(4) What is collective Security?
(5) What is Bi-polar world?
(6) What is Uni-polar world?
(7) Write the full name of SAARC.
(8) Function of world Bank.
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1105E209-2

ENGLISH VERSION

SECTION-I
Write answer any three of the following questions :

Define national income. Explain various methods of measurement of national income.

(a) Discuss various problems which arise in the computation of national income
(b) Explain various factors affecting the national income.

Explain the classical theory of employment with cnticism.

“Supply creates its own demand” critically examine this statement.
Discuss ‘the concept of consumption function’ given by Keynes.
Critically examine Keynesian “Investment multiplier” Concept.
(Give the meaning, stages and effects of a business cycle,
Critically discuss the Hicksiam theory of the trade cycle.

SECTION-II (Compulsory)
Answer the following questions (any four) :
(1) Explain the “long-Jugler” business cycle.
(2) Write any four characteristics of business cycle.
(3) Give the concept of marginal efficiency of capital.
4) (iive the meaning of the marginal propensity to consume,
(5)  Give any four assumptions for Say's law of market.
(6) Write any two criticism on classical theory given by Keynes.
(7) Explainthe Marshallian definition of national income.
(8)  Explain the concep of per capital income.
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B.A. Sem.-5 Examination
301 - Sociology
Indian Sociologist
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1105E210-2

ENGLISH VERSION

SECTION-I
Write answer any three of the following questions :
Describe Dr. Ghurye’s contribution to sociology.
Clarify Dr.Ghurye's thoughts regarding caste system.

State the sociological contribution of J. P. Desai.

Discuss J. P. Desai’s study of joint family.

Describe the career and sociological contribution of R. K. Mukherjee.

Discuss R. K. Mukherjee views regarding social ecology.

Describe the thoughts of A. R. Desai about rural family.

State A. R. Desai’s thoughts on peasantary problem’s.
SECTION-II (Compulsory)

State whether the following statements are true or false (any four) :
(1) The birth place of Dr. Ghurye was Rajasthan.

(2) Dr. Ghurye received his Ph.D. degree from Oxford University.

(3) ‘Centre for Social Studies’ was established at Surat.

(4) ‘Bakshi Panch’ was constituted in the year 1975.

(5) Dr. Mukherjee was associated with Lucknow University.
(6) Dr. Mukherjee’s father was a *Doctor’ by profession.
(7) According to Marx, the world is stable.

(8)  The rural society is losing its familiar characteristics.
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ENGLISH VERSION

SECTION-I
Write answer any three of the following questions :

Give the defination of economic geography and discuss its recent trends and scope of economic

geography.

Write a note on fundamental concepts in economic geography.

Explain classification of economic activities in detail.

Write a geographical essay on Types of agriculture.

What is labour? Discuss in detail various types of labour.

Discuss on factors affecting localization of production.

Inform the importance of land transport and write note an affecting factors of its.

Write a note on International Trade,

SECTION-II (Compulsory)
Fill in the blanks :
(1)  Economic Geography is .........coceeun Geography’s main branch.
(Human, Physical, Regional)

(2) Secondary activities worker’s known as .................
(Blue collar workers, Red collar workers, Pink collar worker).

(3) In ..cccocecrvenenn.. year WTO established (1995, 1996, 2000)

(4) The first railway in the world started in ..........ccoceen year. (1853, 1835, 1845)

(5) recerseeennneneenes RAVET 18 the busiest river for trade in the world (Amazon, Nile, Rhine)
B) o Indian state is famous for black soil. (Rajsthan, Gujarat, Jharkhand)
(7)  Economic Geography is a .......c.ccc... subject. (dynamic, Spatial, developed)

(B) s word is used to indicate business between two nations.

(Local trade, international trade, internal trade)
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1105E212-2

ENGLISH VERSION

SECTION-I

Write answer any three of the following questions :
What is food preservation? Write its importance and its merits - demerits.

List the equipments used in food preservation in detail and write in short about sterilization.

Explain food preservation using low temperature.

Explain the causes of food poisoning and also give information about botulism.
What is pectin? Write about the process of making Jelly, Jam, marm led.
Write the methods of preserving milk and milk products.

“Sugar is a preservative”. -Discuss about it.

Write about different food laws.

SECTION-II (Compulsory)

Give right answer (any eight) :
'§ [ S —— other name of vinegar. (Citric acid, Acetic acid, Sodium Sulphate)
5 T % of starch is present in chocolate. (8, 20, 40)

(3) Eating food contaminated with salmonella.
(Feeling sleepy, Shivering and pain in stomach, Effec on nervous system)

(4) I.S.I. mark was implemented from ................ year. (1952, 1320, 1585)

(5) Yeast is used as .........cceeiinree (Thickening agent, Leavening agent, Bleaching agent)

(6)  In process of .................. the temperature is more than 100°C. (canning, pelling, reading)
(57, L is not use as preservative due to its poisonous effect. (Mercury, Salt, Sugar)
(8) The bacteria needed to make curd. (E-coli, Lactobesilus, Lactose)

(% Agmarkisim plemented in ............... (2017, 510, 1937)

[ L1 TSR —— is used to preserve pickle. (Potassium, sodium, salt and vinegar)

(11)  Use to canned ...........cooevenene (Boiler, Cansimar, Sterilizer)

(12) Need for confectionary ........ccceen. (Icing sugar, caster oil, vinegar)

(13) A growth will stop byusing bacteriaostatic method. (Fungus, Humidity, Microbes)
(14)  Use for cut fruits and vegetables (Hand beater, Hand slicer, Hand mixture)
(15) Use to pour liquid in bottle. (Siphon hose, Beaker, Gas pipe)
(16)  To use for making juice of lemon and orange.
(simer machine, Rousing machine, Corker machine)
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Q-1 Define economic geology. Also add a note on ore, gangue and [14]
mineral deposits.

Q-2 (i) Explain the various methods of mineral exploration and [07]

processing.
(i) Bateman’s and Lindgren’s classification. [07]
Q-3 Discuss hydrothermal and magmatic processes in detail. |14]
Q-4 (i) Discuss historical development of economic geology. 107]
(if)  Explain Pneumatolytic activity. [07]
Q-5 Explain residual weathering processes. [14]
Q-6 (i) Write anote on Placer deposits. [07]

(i) Discuss oxidation and secondary enrichment with necessary [07]
chemical reactions involved.

Q-7 Discuss the sedimentation process along with source material, [14]
solution, transportation and deposition.

Q-8 (i) Explain the condition of deposition of iron ores, manganese ores, [07]
coal and petroleum.
(i) Write a note on metamorphic deposits of Asbestos, kyanite and  [07]
sillimanite.
Q-9 Answer the following short questions. [08]
(1) Define economic geology.
(i)  Define gangue. _
Define ore. .
E::E Who have proposed the classifications of minera
(v)  Name the types of magma.
(vi) What are epigenetic deposits?
(vii) Provide the list of weathering pl:oducts‘
(viii) Name the types of placer deposits.

.__"'7,\,-—-—-._
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